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Huéng Dan Phan Tich:
Tao Nhan Dang Khuyet Tat Sit Dung Cu Phap SAS cho By Cau
Ho6i M& Rong vé Thuc Hién Chirec Nang cia Nhom Washington

(WG-ES)

Gio6i Thiéu

Tuong ty nhu By Cau Hoi Ngén Gon vé Thuc Hién Chire Nang
cia Nhom Washington (WG-SS), viéc phan tich B Cau Hoi M¢&
Rong vé Thuc Hién Chirc Niang cia Nhom Washington (WG-ES)
cling c6 thé lap ra nhiéu kiéu nhan dang khuyét tat tuy thudc vao
su lya chon ngudng gidi han hoac diém gi61 han cua tinh nghiém
trong. Tuy nhién, ci phap SAS duéi day hd trg cho viée tinh toan
nhan dang khuyet tat str dung cac bg lanh vuc WG-ES khac nhau
sir dung diém gi6i han duoc khuyén nghi danh cho so sanh quéc
té (mo ta bén dudi).

DPdi véi mdi kiéu nhan dang khuyét tat duge mo ta, mirc do bao
g@)m 1a ¢6 it nhdt mot 1anh vue/ cau héi dugc ma héa 1a KHO
KHAN NHIEU hoic HOAN TOAN KHONG THE THUC HIEN
PUGOC - hoic — ddi véi cac 1anh vuc Lo Au, TrAm Cam, Pau va
Mét Méi, mirc do khé khan cao nhét trén thang diém bén.

MObi mot trong sd bdén kiéu nhan dang khuyét tat dugc mo ta
trong tai li¢u nay duogc dinh ng}ﬁa dua trén viéc lua chon cac lanh
vuc thuc hién chirc nang bao gom:

WG-SS: B Cdau Héi Ngin Gon: 6 1anh vyc, 6 cau hoi.

WG-ES 1: By Cau Hoi Mo Rong: 11 lanh vuc, 25 cau hoi.

WG-ES 2: Bé Cau Hoi Mé Réng (WG-ES TRU Dau va Mét
Moi): 9 lanh vuc, 20 cau hoi.

WG-ES 3: B Cau Hoi Ngcjn Gon — Nang Cao (WG-SS THEM
Phan Trén cua Co Thé, Lo Au va Tram Cam): 9 lanh vuc, 12 cau
hoi.

LUU Y Dé phan tich dir liéu, hdy sir dung céc k¥ thuat tinh
trong sb va wéc luong theo tiéu chuin cua ban.

Cac Tai Liéu Hwéng Din Thuc

Hién Cia Nhém Washington dé

cap dén cac bd cong cu do Nhom
Washington vé Théng Ké Khuyét
Tat (WG) soan thao dé thu thap dir
litu vé khuyét tit c6 thé so sanh
quéc té tir cac cudc diéu tra dan sd
va khdo sat. Nhitng tai li¢u ndy cung
cip nhitng thuyc hanh tot nhit trong
viéc trién khai Bo Cau Hoi Ngin
Gon, By Cau Hé1 M& Rong, Bo Cau
Hoi Ngin Gon — Nang Cao, Céc
M6-dun vé Thyc Hién Chic Ning
cua Tré Em cua WG/UNICEF danh
cho tré em 2-4 tudi va 5-17 tudi, M-
dun vé Khuyét Tat Trong Khao Sat
Luc Luong Lao Pong (LFS-DM)
cua WG/ILO, ciing nhu cac cong cu
khac cia WG. Cac chi dé bao gom
dich thuat, dic diém cua cau hoi,
hudng dan phan tich, ma 1ap trinh dé
phan tich, viéc s dung cac cong cu
nhim muc dich phan tach, va céc
cha dé khac nira.

Dé tim Cac Tai Liéu Huéng Dan
Thuc Hién khac cua Nhom
\Washington va cac théng tin khac,
hiy truy cdp trang web ciia Nhom
\Washington:
http://www.washingtongroup-

disability.com/.

Cu phap SAS dua trén nhdn bién dugc thé hién trong bang dudi day. Mo-dun WG-ES day dii ¢6 nhidu
cau hoi hon s6 cau hoi xudt hién trong bang nay. Tinh trang khuyét tat dugc xac dinh thong qua kho
khan trong cac hoat dong co ban, thong thuong ma khong sir dung cong nghé hd trg hodc cac tro gidp
khéc. Vi du c6 mot s cau hoi vé kha nang di lai dé cap dén khé khin khi di bo ¢6 str dung thiét bi hd trg.

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hiy
truy cap: http://www.washingtongroup-disability.com/.
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Nhiing cau hoi d6 khong duoc dua vao ké hoach phan tich dugc cung cap o day; tuy nhién, Chl]ng céd
the dugc su dung trong cac phan tich khac nghién ctiru k§ hon vé anh huong cia cong nghé hd tro (cac
yéu t6 tro giup vé mdi trudng) dén viéc thuc hién chirc ning.

Chi nhiing cau hoi /bién dudi day duogc st dung dé xac dinh nhan dang khuyét tat.
bam bao rang ban s dung cdc nhén bién giong nhau HOAC sira lai ¢t phap SAS dé phan 4anh cac
nhdn bién trong co sé dir liéu cua ban.

WG-SS dugce str dung lam mot phan cia Khao Sat Phong Van Sirc Khoe Québc Gia Hoa Ky (NHIS). Di
liéu duogc str dung dé chuan bi cac hudéng dan nay duogc lay tir NHIS nam 2013.

Luwu y danh cho nguwoi dung NHIS': tén cdc bié'n’troqg tép di liéu va tai liéu ciia NHIS c6 thé khdc voi
cac tén duwoc st dung trong tai liéu nay,; vi du, bién ve lanh vuc tuw cham soc dwoc goi la SC-SS trong tai
liéu nay lai duoc dat tén la UB_SS trong tai liéu va tép dir liéu cua NHIS.

M SAS sir dung dé tao ra cdc két qua dau ra trong tai liéu nay cé day di trong Phu Luc 1.

, ) Nhan Ung Phé
Céac Cau Héi/ Lanh Vuc cia B Cau Héi Mé Rong ciia Nhom Bién .
Washington Tra Loi
THI GIAC
1. Ban ¢6 gap khé khan khi nhin ngay ca khi dang deo kinh khong? VIS_SS 1
GIAO TIEP
2. Khi dung ngon ngir thong thwong caa ban, ban co gap

kho khan khi giao tlep (chang han nhu hiéu hoic COM_SS 1
dwoe nguoi khic hiéu khong)?
THINH GIAC
3. Ban c6 gap khoé khan khi nghe ngay ca khi dang dung dung cu HEAR_SS 1
trg thinh khong?
4. Co6 gap kho khan khi nghe mgt ngwoi khac tro chuyén trong
o \ A s n HEAR_3 1
mot can phong yén tinh khong? -
5. Cé gap khé khan khi nghe mgt ngudi khac tro chuyén trong
o N S ; HEAR_4 1
mot can phong on ao hon khong? -
NHAN THU'C
6. Ban c6 giap kho khan khi nhé hoac tap trung khong? COG_SS 1
7. C6 gap kho khan khi nh¢, tap trung, hoac ca hai khong? COG_1 2
8. Gap khé khén khi nhé hodc tip trung véi mirc do thuwong xuyén COG_2 3
nhw thé nao?
9. Ban gap khé khian khi nhé bao nhiéu tha? COG_3 4
TU CHAM SOC / PHAN TREN CUA CO THE
10. Ban c6 gip kho khin khi (tw chim séc ching han nhuw) tim
. ; N <o X A SC_SS 1
rira toan thén hoac miac quan ao khong? -
11. Co gap kho khan khi nhac chai nuée 2 lit tir hong dén ngang UB_1 1
mat khong?

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hiy
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12. Mitrc d¢ khé khi sir dung ban tay va ngén tay UB_2 1

KHA NANG DI LAI

13. Ban ¢6 gip kho khin khi di b hoic leo bic cAp khong? MOB_SS 1

14. Co gap kho khan khi di by khozdng 100 mét trén nén dat MOB 4 1
bang phang ma khong diung thiét bi trg’ giup khong? -

15. C6 gap kho khan khi di by khoang 500 mét trén dit bing MOB 5 1
phing ma khong dung thiét bi tro giip khong? -

16. Co gap kho khan khi leo 1én hoic leo xudng 12 béc MOB 6 1
cap ma khong dung thiét bi trg' giip khong? -

CAM XUC (LO LANG)

17. Cam thay lo ling, s¢ hii, bon chon véi mirc dd thwong xuyén ANX_1 5

nhu thé nao?

18. Mirc d ciia cdc cam gidc khi cam thay lo lang, s¢' hii, bon chon ANX_3 6

lan gan nhat?

CAM XUC (TRAM CAM)

19. Ban cam thiy trim cam véi micc d§ thudng xuyén nhuw thé DEP_1 5

nao?

20. Mirc dd tram cam khi ban cam thay tram cam lan gan nhat? DEP_3 6

DAU

21. Bi dau v6i mutrc d6 thudng xuyén nhu thé nao trong 3 thang vira PAIN_2 7

qua?

22. Ban cam thay dau dén murc nao trong lan gan nhat? PAIN_4 6

MET MOI

23. Cam thdy mét méi hodc kiét strc voi mirc d6 thudng xuyén dén TIRED_1 7

murc nao trong 3 thang vira qua? ’ .

24. Cam thay mét moi hodc ki€t strc 1au dén mirc nao trong lan gan TIRED_2 8

nhat?

25. Mtic do cua cam gidc mét moi hodc kit strc trong lan gén nhat? TIRED_3 6

LUUY: Mau Pé chi B6 Cau Hoi Ngan Gon vé Thuc Hién Chtrc Nang ciia Nhom

Washington (WG-SS).
Toan bo 25 cau hoi déu dugc dua vao WG-ES 1.

Cac cau hoi Mau Do va Mau Xanh Dwong va Mau Xanh La dugc dua vao WG-ES 2.

Céac cau hoi Mau Do va Mau Xanh La dugc dua vao WG-ES 3.

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hiy
truy cap: http://www.washingtongroup-disability.com/.
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MaAu tra 1oi:

Miu 1 Méiu 2 Méiu 3 Mau 4
1 | Khong kho khan Chi gap kho khan khi nhé Thinh thoang | Mot s6 thi
2 | C4, Hoi kho khan Chi gap kho khan khi tap trung Thuong xuyén | Nhiéu tht
3 | C6, Kho khan nhiéu Gap kho khan cd khi nhé & khi Toan bo thoi Hau nhu moi thu
tap trung gian

4 | Hoan toan khong thé
thuc hién duoc

7 | Tu chdi tra 161

8 | Khong biét chic chan

9 | Khong biét

Méau 5 Mau 6* Méau 7 Méau 8
1 | Hang ngay Mot it Khong bao gio | Mot lic nao do
trong ngay
2 | Hang tuan Nhiéu Mot vai ngdy | Hau nhu ca ngay
3 | Hang thang O murc gitra mot it va nhiéu Hau hét moi Subt ngay
ngay
4 | Mot vai lan trong mot Hang ngay

nam

5 | Khong bao gio

7 | Tu choi tra o1

8 | Khoéng biét chac chan

9 [ Khong bidt

* TRONG CU PHAP DUOGI DAY, LUU Y RANG CAC MUC CO MAU TRA LOI 6 (ANX_3,
DEP_3, PAIN_4 VA TIRED_3) PUQC MA HOA LAI BE DPINH VI “O MUC GIUA” BANG
SO O KHOANG GIUA “MQT IT” VA “NHIEU”.

WG-SS duoc 1ong ghép trong WG-ES. WG-ES dugc b sung bang cach:
. thém céac cau hoi cho 6 lanh vue hién c6 va
. thém cac 1anh vuc (mot so 1anh vuc ¢6 nhiéu cau hoi).

Ct phap SAS duoc trinh bay dudi diy bao gdbm mot vai yéu t6 riéng cho ndi dung cua WG-ES.

Trude hét, diéu quan trong la xac dinh dugc cac kiéu nhan dang riéng cho tung lanh vuc ddi voi
nhttng 1anh vyc thyc hién chuc nang co6 nhiéu cau hoi. Vi du, hoat dong chirc nang cua phﬁn trén cua
co thé gdm co hai cau hoi, mdi cdu hoi vé nhig hanh dong cu thé va riéng biét: kho khan khi nhac
chai nuée tir hong dén ngang mat (canh tay/vai), va kho khan khi sir dung ban tay va ngén tay. Hai cau
hoi nay da duoc phan tich va két hop dé 1ap mot chi s6 duy nhat vé phan trén ctia co thé voi bdn muc
d6 kho khan khac nhau, tir 1 - khé khin ¢ muc thap dén 4 - khé khin & mirc cao — khong gidng

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hdy truy cp:
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nhu nhing cau tra 16i phan loai dbi véi cac cau hoi riéng 1é cua WG-SS: khong c¢6 kho khan, hoi kho
khan, kho khin nhiéu va hoan toan khong thé thuc hién dugc. Tuong tu nhu 1anh vuc phﬁn trén cla co
thé, cac lanh vuc WG-ES vé& nhan thire, lo au, trim cam, dau va mét moi cling c6 nhitng mau tra 10i khac
nhau khong thé dé dang "chuyén tai" sang mau tra 16i WG thong thudng. D4i v6i nhitng lanh vuc thuc
hién chtrc nang nay, mot mau tra 10i trén thang diém 4 gidng nhau d3 duoc soan thao va chd giai tir mirc
1 dén murc 4, trong d6 1 1a mirc kho khin thap nhat va 4 1a mic cao nht.

Thir hai, cac chi sd cuia 1anh vyc riéng 1¢ duoc danh gia cung nhau dé xac dinh ngudng gidi han thich
hop dé bao gdm trong mot nhén dang khuyét tat tong thé — nham muc dich wéc tinh mirc do pho bién va
phan tach céac chi s6 két qua theo tinh trang khuyét tat.

LUUY:
Doi voi tht ca cac bién s6, cac ma (7) Tir choi tra 1o, (8) Khong Biét Chac Chan, va (9) Khong biét, dugc
ma hoa thanh Thieu.

SAS WG Extended Set Syntax Annotated with Qutput Tables
Actual SAS syntax is indented and are in Bold text.
NOTE: For data analysis, use your standard weighting and estimation techniques.
The syntax below produces frequency distributions on individual domain questions — cross-
tabulations on multiple domain questions, and calculates INDICATOR variables for domains with
multiple questions — for use in the determination of disability identifiers.
VISION
Step 1. Generate frequency distribution for Vision domain.
VIS_SS is the WG-SS Vision question.

If VIS_SSin (1, 2, 3, 4) then Vision=VIS_SS;

Else If VIS_SSin (7, 8, 9) then Vision=;

Proc Freq Data=SS. ExtendedSets2013;
Tables Vision;

Run;
Vision: Degree of difficulty seeing
Valid Cumulative
Frequency Percent Percent Percent
Valid [No difficulty 13690 79.0 81.6 81.6
Some difficulty 2708 15.6 16.2 97.8
A lot of difficulty 333 1.9 2.0 99.8
Cannot do at all 36 2 2 100.0
Total 16767 96.8 100.0
Missing 559 3.2
Total 17326 100.0

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hdy truy cp:
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COMMUNICATION
Step 2. Generate frequency distribution for Communication domain.
COM_SS is the WG-SS Communication question.
If COM_SSin (1, 2, 3,4) then Communication=COM _SS;
Else If COM_SSin (7, 8, 9) then Communication=.;
Proc Freq Data=SS. ExtendedSets2013;

Tables Communication;
Run;

Communication: Degree of difficulty communicating using usual language

Valid Cumulative
Frequency Percent Percent Percent
Valid No difficulty 15874 91.6 94.7 94.7
Some difficulty 745 4.3 4.4 99.2
A lot of 9 5 .6 99.7
difficulty
Cannot do at all 43 2 3 100.0
Total 16756 96.7 100.0
Missing 570 3.3
Total 17326 100.0

HEARING

Step 3. Generate frequency distributions and cross-tabulations for Hearing domain questions and
determine Hearing Indicator

HEAR_SS is the WG-SS Hearing question.
IfHEAR_SS in (1, 2, 3, 4) then Hearing=HEAR_SS;
Else If HEAR_SS in (7, 8, 9) then Hearing=;

HEAR_3 is Difficulty hearing conversation with one person in quiet room.
If HEAR_3in (1, 2, 3, 4) then HEAR_3 _R=HEAR_3;
Else If HEAR_3in (7, 8, 9) then HEAR_3 R=

HEAR_4 is Difficulty hearing one person in noisier room.
If HEAR_4 in (1, 2, 3, 4) then HEAR_4_R=HEAR_4;
Else If HEAR_4 in (7, 8, 9) then HEAR_4_R=;

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hdy truy cp:
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Proc Freq Data=SS. ExtendedSets2013;
Tables Hearing HEAR_3 R HEAR 4 R;

Run;

Hearing: Degree of difficulty hearing

Frequen Valid Cumulative
cy Percent Percent Percent

Valid  No difficulty 13680 79.0 81.6 81.6
Some difficulty 2753 15.9 16.4 98.0
A lot of difficulty 310 1.8 1.8 99.9
Cannot do at all 23 1 1 100.0
Total 16766 96.8 100.0

Missing 560 3.2

Total 17326 100.0

HEAR_3_R : Difficulty hearing conversation with one person in quiet room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty 15249 88.0 91.0 91.0
Some difficulty 1316 7.6 7.9 98.9
A lot of difficulty 162 9 1.0 99.9
Cannot do at all 10 A1 A 100.0
Total 16737  96.6 100.0

Missing 589 3.4

Total 17326 100.0

HEAR_4_R: Difficulty hearing one person in noisier room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty 11697 675 70.0 70.0
Some difficulty 4191 24.2 25.1 95.1
A lot of difficulty 779 4.5 4.7 99.7
Cannot do at all 48 3 3 100.0
Total 16715  96.5 100.0

Missing 611 3.6

Total 17326  100.0

Step 4. For Hearing questions, recode HEAR_3 R and HEAR_4 R to value 4 (cannot do at all) if
Hear_SS is 4 (Cannot do at all).

The syntax below recodes HEAR_3 R and HEAR_4 R to 4 (cannot do at all) if Hear_SS is 4 (cannot
do at all).

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hdy truy cp:
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If Hearing = 4 and HEAR_3 R =. then HEAR_3 X =4;
Else HEAR_3 X=HEAR_3 R;

If Hearing = 4 and HEAR_4 R =. then HEAR_4 X =4;
Else HEAR_4 X=HEAR_4 R;

Proc Freq Data=SS. ExtendedSets2013;

Tables HEAR_3 X HEAR 4 X;
Run;

HEAR_3_ X : Difficulty hearing conversation with one person in quiet room

Perc
Frequency ent Valid Percent Cumulative Percent
Valid  No difficulty 15249 88.0 91.0 91.0
Some difficulty 1316 7.6 7.9 98.8
A lot of difficulty 162 9 1.0 99.8
Cannot do at all 33 2 2 100.0
Total 16760 96.7 100.0
Missing 566 3.3
Total 17326 100.
0

HEAR_4 X: Difficulty hearing one person in noisier room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty 11697 67.5 69.9 69.9
Some difficulty 4191 24.2 25.0 94.9
A lot of difficulty 779 4.5 4.7 99.6
Cannot do at all 71 A4 A4 100.0
Total 16738  96.6 100.0

Missing 588 3.4

Total 17326 100.0

Step 5. Generate a cross-tabulation of the two Hearing Extended Set questions: HEAR_3 X and
HEAR 4 X.

The syntax below produces a cross-tabulation of the two Extended Set questions: HEAR_3_X: Difficulty
hearing in a quiet room and HEAR 4 _X: Difficulty hearing in a noisier room to determine a single
HEARING INDICATOR.

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hdy truy cp:
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Proc Freq Data=SS. ExtendedSets2013;
Tables HEAR_4 X*HEAR 3 X /NOROW NOCOL NOPERCENT;

Run;
HEAR_3 X : Difficulty hearing conversation with one person
in quiet room
HEAR_4 X (Difficulty hearing Some A lot of Cannot do
in a Nosier room) No difficulty  difficulty  difficulty at all Total

No difficulty \ 11603 94 0 0 11697
Some difficulty | 3373 809 8 0 4190
A lot of difficulty | 253 388 138 0 779
Cannotdoatall | 8 24 16 23 71
Total 15237 1315 162 23 16737

Step 6. Create a HEARING INDICATOR (H_INDICATOR) based on the two additional hearing

questions HEAR_3 X and HEAR 4 X.

The syntax below creates a HEARING INDICATOR (H_INDICATOR) based on the cross-tabulation of
the two additional hearing questions HEAR_3 X and HEAR_4_X.

If (HEAR_3_X = 1 AND HEAR_4_X = 1) OR (HEAR_3_X =1 AND HEAR _4_X = 2)

then H_INDICATOR = 1;

Else If (HEAR_3 X =2 AND (HEAR 4 X =1 ORHEAR 4 X =2)) OR (HEAR 3 X =1
AND HEAR_4_X = 3) then H_INDICATOR = 2;

Else If (HEAR_3_X = 3 AND (HEAR 4 X = 1 OR HEAR_ 4 X = 2) OR (HEAR 3 X =2
AND HEAR 4 X =3) OR (HEAR 3_X = 1 AND HEAR 4 _X = 4)) then H_INDICATOR =
3;

Else If (HEAR_3_X = 3 AND HEAR_4_X = 3) OR HEAR_ 3 X =4 OR (HEAR 4 X =4
AND (HEAR 3 X =2 OR HEAR 3 X=3)))  then H_INDICATOR = 4;

Proc Freq Data=SS. ExtendedSets2013;
Tables H_INDICATOR;

Run;
H_INDICATOR
Frequency Percent Valid Percent Cumulative Percent
Valid |1.00 14976 86.4 89.4 89.4
2.00 1156 6.7 6.9 96.3
3.00 404 2.3 2.4 98.7
4.00 211 1.2 13 100.0
Total 16747 96.7 100.0
Missing 579 3.3
Total 17326 100.0

Trang | 9
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COGNITION: Degree of difficulty remembering or concentrating

Step 7. Generate frequency distributions and cross-tabulations for Cognition domain questions and
determine a Cognition Indicator.

COG_SS is the WG-SS Cognition question.
If COG_SSin (1, 2, 3, 4) then Cognition=COG_SS;
Else If COG_SSin (7, 8, 9) then Cognition=;

Proc Freq Data=SS. ExtendedSets2013;

Tables Cognition;
Run;

Cognition: Degree of difficulty remembering or concentrating

Valid Cumulative
Frequency Percent Percent Percent

Valid  No difficulty 13719 79.2 81.9 81.9
Some difficulty 2632 15.2 15.7 97.6
A lot of difficulty 382 2.2 2.3 99.9
Cannot do at all 20 1 1 100.0
Total 16753 96.7 100.0

Missing 573 3.3

Total 17326 100.0

If response to COG-SS is some difficulty, a lot of difficulty or cannot do at all, then the respondent is
asked COG_1: whether they have difficulty remembering, concentrating or both.

ITCOG_1in (1, 2, 3) then COG_1_R=COG_1;
Else If COG_11in (7, 8, 9) then COG_1_R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables COG_1 R;

Run;
COG_1_R: Difficulty remembering, concentrating, or both?
Valid Cumulative
Frequency Percent Percent Percent

Valid  Difficulty remembering only 983 5.7 32.4 32.4

Difficulty concentrating only 388 2.2 12.8 45.2

Difficulty with both remembering and 1659 9.6 54.8 100.0

concentrating

Total 3030 175 100.0
Missing 14296 82.5
Total 17326  100.0

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hdy truy cp:
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Step 8. Account for those who did not answer COG_1 (COG_SS is 1 — no difficulty and they were
skipped) by recoding COG_1 to 0 (No difficulty).

If response to COG-SS is 1: no difficulty, then the variable COG_1 R is recoded into COG_1A, and the
value assigned is 0: no difficulty.

If COG_SS=1 then COG_1A=0;
Else COG_1A=COG_1_R;

Proc Freq Data=SS. ExtendedSets2013;

Tables COG_1A;
Run;

COG_1A: Difficulty remembering, concentrating, or both? (including no difficulty)

Valid Cumulative
Frequency Percent  Percent Percent
Valid  No difficulty 13719  79.2 81.9 81.9
Difficulty remembering only 983 5.7 59 87.8
Difficulty concentrating only 388 2.2 2.3 90.1
Difficulty with both remembering and 1659 9.6 9.9 100.0
concentrating
Total 16749  96.7 100.0
Missing 577 3.3
Total 17326 100.0

Step 9. Generate frequency distribution for remaining cognition questions.

Frequency distribution of the Cognition extended REMEMBERING questions: COG_2 How often have

difficulty remembering, and COG_3 Amount of things you have difficulty remembering.

If COG_2in (1, 2, 3) then COG_2_R=COG_2;
Else If COG_2in (7, 8, 9) then COG_2_R=;

If COG_3in (1, 2, 3) then COG_3 _R=COG_3;
Else If COG _3in (7, 8, 9) then COG_3 _R=

Proc Freq Data=SS. ExtendedSets2013;
Tables COG_2 R COG_3 R;
Run;

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hdy truy cp:

Trang | 11

http://www.washingtongroup-disability.com/.



COG_2 R:

How often have difficulty remembering?
Frequency Percent Valid Percent Cumulative Percent

Valid  Sometimes 1916 111 724 72.4
Often 513 3.0 19.4 91.8
All of the time 216 1.2 8.2 100.0
Total 2645 15.3 100.0

Missing 14681 84.7

Total 17326  100.0
COG_3_R: Amount of things you have difficulty remembering?

Cumulative
Frequency Percent Valid Percent Percent

Valid A few things 2119 12.2 80.3 80.3
A lot of things 386 2.2 14.6 94.9
Almost everything 134 8 5.1 100.0
Total 2639 15.2 100.0

Missing 14687 84.8

Total 17326  100.0

Step 10. Generate cross-tabulation of the two Cognition extended set questions COG_2R by COG_3 R.

The syntax below produces a cross-tabulation of the two Extended Set REMEMBERING questions:
COG_2_R: How often you have difficulty remembering and COG_3_R: The amount of things you have
difficulty remembering to determine a single REMEMBERING INDICATOR.

Proc Freq Data=SS. ExtendedSets2013;
Tables COG_2_R*COG_3_R /NOROW NOCOL NOPERCENT;

Run;

COG_3_R: Amount of things you have difficulty

remembering?

COG_2_R: How often do you have Almost

difficulty remembering? A few things A lot of things  everything Total

How often have difficulty |Sometimes 1788 105 20 1913

remembering? Often 279 197 34 510
All of the time 51 84 80 215

Total 2118 386 134 2638

Step 11. Create a Remembering Indicator based on distribution of COG_2 R and COG_3 R.

The syntax below creates a REMEMBERING INDICATOR (R_INDICATOR) based on the two
additional remembering questions (COG_2 R and COG_3_R).
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If Cognition is 1: no difficulty, then the Remembering Indicator is coded as 1: the lowest level of
difficulty.

If (Cognition = 1) then R_INDICATOR =1,

Else If (COG_2 R=1AND COG 3 R=1)OR(COG_3 R=1ANDCOG_2 R=2)0OR
(COG_3_ R=2ANDCOG_2 R=1)) then R_INDICATOR = 2;

Else If (COG_3_R =2 AND COG_2_R =2) then R_INDICATOR = 3;

Else If (COG_3_ R=30RCOG 2 R=3) thenR_INDICATOR =4;

Step 12. If COG_1A is coded as 2 (concentrating only), then the Remembering Indicator is coded as 5.

These 388 individuals are respondents who were not included in the Remembering Indicator since they
had only difficulty concentrating.

Else If(COG_1A = 2) then R_INDICATOR =5;
Else R_INDICATOR =0;

Step 13. Generate frequency distribution of the Remembering Indicator.

Proc Freq Data=SS. ExtendedSets2013;
Tables R_INDICATOR;

Run;
R_INDICATOR
Frequency Percent Valid Percent Cumulative Percent

Valid .00 580 3.3 3.3 3.3

1.00 13719 79.2 79.2 82.5

2.00 2172 125 125 95.1

3.00 197 1.1 1.1 96.2

4.00 270 1.6 1.6 97.8

5.00 388 2.2 2.2 100.0

Total 17326 100.0 100.0

Step 14. Supplement Remembering Indicator with information on difficulty concentrating.

The syntax below adds information on whether cognitive difficulties are compounded by difficulty
concentrating in addition to difficulty remembering.

Create a COGNITION INDICATOR (COG_INDICATOR) based on R_INDICATOR (above) and the
cognition question (COG_1 R).

The 388 individuals with ‘concentrating only’ were allocated as follows:

1. 357 with a little difficulty on Cognition question were classified as 2

2. 30 with a lot of difficulty on Cognition question were classified as 3

3. 1 with cannot do on Cognition question was classified as 4
Those with both remembering and concentrating difficulty were upgraded 36 individuals from 2 to 3,
and 125 individuals from 3 to 4.
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COG_INDICATOR=R_INDICATOR;

If (R_INDICATOR =5 AND Cogpnition = 2) then COG_INDICATOR = 2;

Else If (R_INDICATOR =5 AND Cognition = 3) then COG_INDICATOR = 3;
Else If (R_INDICATOR =5 AND Cognition = 4) then COG_INDICATOR = 4;

If (R_INDICATOR =2 AND COG_1_R = 3 AND Cogpnition = 3) then COG_INDICATOR = 3;
Else If (R_INDICATOR =3 AND COG_1_R = 3 AND Cognition = 3) then
COG_INDICATOR = 4;

Step 15. Generate frequency distribution of the Cognition Indicator.

Proc Freq Data=SS. ExtendedSets2013;
Tables COG_INDICATOR;

Run;
COG_INDICATOR
Frequency Percent Valid Percent ~ Cumulative Percent
Valid .00 580 3.3 3.3 3.3
1.00 13719 79.2 79.2 82.5
2.00 2449 14.1 14.1 96.7
3.00 226 1.3 1.3 98.0
4.00 352 2.0 2.0 100.0
Total 17326 100.0 100.0
UPPER BODY

Step 16. Generate frequency distributions and cross-tabulations for Self-care and Upper body domain
questions and determine the Upper Body Indicator.

SC_SS is the WG-SS Self-care question.
UB_1 is Difficulty raising 2 liter bottle of water from waist to eye level.
UB_2 is Difficulty using hands and fingers

IfSC_SSin (1,2, 3,4) then Self_Care=SC_SS;
Else If SC_SSin (7, 8, 9) then Self_Care=;

IfUB_1in (1,2, 3,4)then UB_1_R=UB 1,
Else IfUB_1in (7,8, 9) then UB_1 R=;

IfUB_2in (1, 2, 3,4) then UB_2_R=UB_2;
Else IfUB _2in (7,8, 9) then UB_2 R=;

First, calculate frequency distributions on the short set and two extended set questions.
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Proc Freq Data=SS. ExtendedSets2013;
Tables Self Care UB_1 RUB_2 R;

Run;
SELF_CARE: Degree of difficulty with self-care
Frequency Percent  Valid Percent Cumulative Percent
Valid No difficulty 16029 92.5 95.7 95.7
Some difficulty 544 3.1 3.2 98.9
A lot of difficulty 114 v v 99.6
Cannot do at all 68 A4 A4 100.0
Total 16755 96.7 100.0
Missing 571 3.3
Total 17326 100.0
UB_1 R: Diff raising 2 liter bottle of water from waist to eye level
Frequency Percent  Valid Percent Cumulative Percent
Valid No difficulty 15677 90.5 93.6 93.6
Some difficulty 743 4.3 4.4 98.0
A lot of difficulty 167 1.0 1.0 99.0
Cannot do at all 166 1.0 1.0 100.0
Total 16753 96.7 100.0
Missing 573 3.3
Total 17326 100.0
UB_2_R: Degree of difficulty using hands and fingers
Frequency Percent  Valid Percent Cumulative Percent
Valid No difficulty 15199 87.7 90.7 90.7
Some difficulty 1229 7.1 7.3 98.1
A lot of difficulty 255 15 1.5 99.6
Cannot do at all 70 A4 A4 100.0
Total 16753 96.7 100.0
Missing 573 3.3
Total 17326 100.0

Step 17. Generate a cross-tabulation of the two Upper body Extended Set questions: UB_2 R and
UB_1 R.

The syntax below produces a cross-tabulation of the two Extended Set questions: UB_1_R: Difficulty
raising a 2 liter bottle of water from waste to eye level UB_2_R: Difficulty using hands and fingers to
determine a single UPPER BODY INDICATOR (UB_INDICATOR).
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Proc Freq Data=SS. ExtendedSets2013;
Tables UB_2_R*UB_1_R /NOROW NOCOL NOPERCENT;

Run;
UB_1_R: Diff raising 2 liter bottle of water from
waist to eye level
Some A lot of Cannot
UB_2_R: Difficulty using hands and fingers No difficulty difficulty difficulty —doatall Total
Degree of difficulty ~ No difficulty | 14786 309 58 44 15197
using hands and Some difficulty | 782 355 51 40 1228
fingers A lot of difficulty | 98 73 51 33 255
Cannot do at all \ 9 5 7 49 70
Total 15675 742 167 166 16750

Step 18. Create an UPPER BODY INDICATOR (UB_INDICATOR) based on the two additional upper
body questions UB_2 R and UB_3 R.

Syntax below creates UB_INDICATOR based on the distribution in the cross-tabulation above.
If (UB_1_R=40RUB_2 R=4)then UB_INDICATOR = 4;
Else If UB_INDICATORNE 4 AND (UB_ 1 R=30RUB 2 R=23)
then UB_INDICATOR = 3;
Else If UB_INDICATOR NE 4 AND UB_INDICATORNE 3AND (UB_1 R=20RUB 2 R
=2) then UB_INDICATOR = 2;
Else If UB_INDICATOR NE 4 AND UB_INDICATOR NE 3 AND UB_INDICATOR NE 2
AND (UB_1 R=10RUB_2 R =1)then UB_INDICATOR = 1;

Proc Freq Data=SS. ExtendedSets2013;
Tables UB_INDICATOR;

Run;
UB_INDICATOR
Frequen
cy  Percent Valid Percent Cumulative Percent
Valid |[1.00 14790 854 88.3 88.3
2.00 1448 8.4 8.6 96.9
3.00 331 1.9 2.0 98.9
4.00 187 11 11 100.0
Total 16756  96.7 100.0
Missing 570 3.3
Total 17326  100.0

Dé biét thém thong tin vé Nhém Washington vé Thong Ké Khuyét Tat (WG), hdy truy cp:

Trang | 16 http://www.washingtongroup-disability.com/.



MOBILITY

Step 19. Generate frequency distributions and cross-tabulations for Mobility domain questions and

determine Mobility Indicator.

MOB_SS is the WG-SS Mobility question.
MOB_4 is Difficulty walking 100 yards on level ground without aid or equipment.
MOB_5 is Difficulty walking 1/3rd mile on level ground without aid or equipment.

If MOB_SSin (1, 2, 3, 4) then Mobility=MOB_SS;
Else MOB_SS in (7, 8, 9) then Mobility=;

If MOB_4in (1, 2, 3, 4) then MOB_4_R=MOB _4;
Else If MOB_4in (7, 8, 9) then MOB_4 R=

If MOB_5in (1, 2, 3,4) then MOB_5_R=MOB_5;
Else If MOB_5in (7, 8, 9) then MOB_5 R=

First, calculate frequency distributions on the short set and two extended set WALKING questions.
Proc Freq Data=SS. ExtendedSets2013;
Tables Mobility MOB_4 R MOB 5 R;

Run;
Mobility: Degree of difficulty walking or climbing steps
Valid Cumulative
Frequency Percent Percent Percent
Valid No difficulty 13424 775 80.1 80.1
Some difficulty 2165 125 12.9 93.0
A lot of difficulty 792 4.6 4.7 97.7
Cannot do at all 380 2.2 2.3 100.0
Total 16761 96.7 100.0
Missing 565 3.3
Total 17326 100.0
MOB_4 R: Diff walking 100 yards on level ground w/o aid or equipment
Cumulative
Frequency Percent ~ Valid Percent Percent
Valid No difficulty 13892 80.2 84.8 84.8
Some difficulty 1369 7.9 8.4 93.2
A lot of difficulty 491 2.8 3.0 96.2
Cannot do at all 623 3.6 3.8 100.0
Total 16375 945 100.0
Missing 951 55
Total 17326 100.0
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MOB_5_R: Diff walking 1/3rd mile on level ground w/o aid or equipment

Cumulative
Frequency Percent ~ Valid Percent Percent

Valid No difficulty 13025 75.2 82.8 82.8
Some difficulty 1650 9.5 10.5 93.3
A lot of difficulty 708 4.1 4.5 97.8
Cannot do at all 347 2.0 2.2 100.0
Total 15730 90.8 100.0

Missing 1596 9.2

Total 17326 100.0

Step 20. Generate a cross-tabulation of the walking distance questions: MOB_4 R and MOB_5_R.

The syntax below produces a cross-tabulation of the two Extended Set WALKING questions:
MOB_4 R: Difficulty walking 100 yards without equipment and MOB_5_R: Difficulty walking 1/3 mile
without equipment to determine a single WALKING INDICATOR.

NOTE: 623 individuals who responded cannot do at all to MOB_4 R were not asked MOB_5 R and
they do not appear in the table below. They are, however, accounted for in the WALKING indicator
calculation.

Proc Freq Data=SS. ExtendedSets2013;
Tables MOB_4 R*MOB_5 R /NOROW NOCOL NOPERCENT;
Run;

MOB_4 R: Diff walking 100  MOB_5 R: Diff walking 1/3rd mile on level ground w/o aid or

yards on level ground w/o aid or equipment
equipment Some Alotof  Cannotdo
No difficulty  difficulty difficulty atall Total
No difficulty ‘ 12950 819 63 39 13871
Some difficulty | 72 810 343 142 1367
A lot of difficulty | 3 21 301 166 491
Cannot do at all (623) ] 0 0 0 0 0
Total 13025 1650 707 347 15729

Step 21. Create a WALKING INDICATOR (WALK_INDICATOR) based on the two additional walking
questions MOB_4 R and MOB_5 R.

Syntax below creates WALKING_INDICATOR based on the distribution in the cross-tabulation above.
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WALK INDICATOR=0;
If (MOB_4 R=1AND (MOB_5 R=10RMOB_5 R =2)) then WALK_INDICATOR = 1;
Else If (MOB_4 R=1AND MOB 5 R=3)OR (MOB_4 R=2AND (MOB 5 R=10R
MOB_5 R=2 OR MOB_5_R = 3)) then WALK_INDICATOR = 2;
Else If (MOB_4 R=1AND MOB 5 R=4)OR (MOB_4 R=3 AND (MOB 5 R=10R
MOB_5 R=2OR MOB_5 R =3)) then WALK_INDICATOR = 3;
Else If (MOB_4 R=2 AND MOB_5 R =4) OR (MOB_4 R=3AND MOB_5 R =4)
then WALK_INDICATOR = 4;
Syntax below includes the 623 who responded cannot do at all to MOB_4 R into the WALKING
INDICATOR.
Else If (WALK_INDICATOR =0 AND MOB_4_R = 4) then WALK_INDICATOR = 4;

If WALK_INDICATOR=0 then WALK_INDICATOR=;

Proc Freq Data=SS. ExtendedSets2013;
Tables WALK_INDICATOR;

Run;
WALK_INDICATOR
Valid Cumulative
Frequency Percent Percent Percent
Valid 1.00 13769 79.5 84.2 84.2
2.00 1288 7.4 7.9 921
3.00 364 2.1 2.2 94.3
4.00 931 54 5.7 100.0
Total 16352 94.4 100.0
Missing 974 5.6
Total 17326 100.0

Step 22. Supplement Walking Indicator with information on difficulty Climbing steps (MOB_6).

Syntax below adds information from MOB_6 on difficulty climbing up or down 12 steps to create a
combined Mobility Indicator (MOB_INDICATOR).

If MOB_6in (1, 2, 3, 4) then MOB_6_R=MOB_6;
Else If MOB_6in (7, 8, 9) then MOB_6_R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables WALK_INDICATOR* MOB_6_R /INOROW NOCOL NOPERCENT;
Run;
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MOB_6_R: Difficulty climbing up or down 12 steps

Some A lot of Cannot do at
WALK INDICATOR No difficulty  difficulty difficulty all Total
walk_INDICATOR2 1.00 13048 645 55 17 13765
2.00 370 767 135 16 1288
3.00 43 106 200 14 363
4.00 79 242 226 384 931
Total 13540 1760 616 431 16347

According to the table above, the syntax below reclassifies:

1. 55 individuals with level 1 on the WALKING INDICATOR as level 2 on the MOBILITY
INDICATOR

2. 17 individuals with level 1 on the WALKING INDICATOR and 135 individuals with level 2 on
the WALKING INDICATOR as level 3 on the MOBILITY INDICATOR, and

3. 16 individuals with level 2 on the WALKING INDICATOR as level 4 on the MOBILITY
INDICATOR.

Step 23. Create a mobility indication (MOB_INDICATOR) with information garnered from cross-
tabulation above.

MOB_INDICATOR = WALK_INDICATOR;

If (WALK_INDICATOR = 2 AND MOB_6_R = 3) then MOB_INDICATOR = 3;

Else If (WALK_INDICATOR =1 AND MOB_6_R = 3) then MOB_INDICATOR = 2;
Else If (WALK_INDICATOR = 2 AND MOB_6_R = 4) then MOB_INDICATOR = 4;
Else If (WALK_INDICATOR =1 AND MOB_6_R = 4) then MOB_INDICATOR =3;

Proc Freq Data=SS. ExtendedSets2013;
Tables MOB_INDICATOR;

Run;
MOB_IDICATOR
Valid Cumulative
Frequency Percent Percent Percent
Valid 1.00 13697 79.1 83.8 83.8
2.00 1192 6.9 7.3 91.1
3.00 516 3.0 3.2 94.2
4.00 947 55 5.8 100.0
Total 16352 94.4 100.0
Missing 974 5.6
Total 17326 100.0
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ANXIETY

Step 24.Generate frequency distribution on ANX_1.

First, calculate frequency distributions on ANX_1: How often do you feel worried, nervous or anxious?
If ANX_1in (1, 2,3, 4,5) then ANX_1_R=ANX_1;
Else If ANX 1in (7,8, 9) then ANX 1 R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables ANX_1 R;

Run;
ANX 1 R: How often feel worried, nervous, or anxious?
Frequency Percent Valid Percent Cumulative Percent
Valid Daily 1632 9.4 9.8 9.8
Weekly 1872 10.8 11.2 21.0
Monthly 1558 9.0 9.3 30.4
A few times a year 4898 28.3 29.4 59.7
Never 6714  38.8 40.3 100.0
Total 16674  96.2 100.0
Missing 652 3.8
Total 17326  100.0

Step 25. The syntax below recodes ANX_3 into ANX_3Y
1) to create a NOT ASKED category based on those who responded NEVER to ANX 1 R and
2) to place “SOMEWHERE BETWEEN " numerically in-between “A LITTLE” and “A LOT”.

If ANX_3 =1 then ANX_3Y=1,;

Else If ANX 3 =2 then ANX 3Y=3;

Else If ANX _3 =3 then ANX _3Y=2;

Else If ANX_3in (7, 8, 9) then ANX_3Y=;

Recode ANX_3Y to 0 (not asked) If ANX_1 is 5 (Never).
ITf ANX _1 =5 then ANX_3Y=0;

Proc Freq Data=SS. ExtendedSets2013;
Tables ANX_3Y;
Run;
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ANX_3Y: Level of feelings last time felt worried/nervous/anxious
Valid Cumulative

Frequency Percent  Percent Percent

Valid Not asked 6714 38.8 40.3 40.3
A little 5700 32.9 34.2 745
In between a little and a lot 3076 17.8 18.5 92.9
A lot 1176 6.8 7.1 100.0
Total 16666 96.2 100.0

Missing 660 3.8

Total 17326  100.0

Step 26. Generate a cross-tabulation of the anxiety Extended Set questions: ANX_1 R and ANX_3Y.

The syntax below produces a cross-tabulation of ANX_1 R: How often you felt worried, nervous or
anxious (a measure of frequency) and ANX_3Y: The level of those feeling the last time you felt worried,
nervous or anxious (a measure of intensity) — used to determine a single ANXIETY INDICATOR
(ANX_INDICATOR).

Proc Freq Data=SS. ExtendedSets2013;
Tables ANX_3Y*ANX_1 R/NOROW NOCOL NOPERCENT;
Run;

ANX 1 R: How often feel worried, nervous or anxious?
ANX_3Y . Level 0T Teelngs last ume

felt worried, nervous or anxious . A Few Times

’ Daily  Weekly Monthly A Year Never = Total
Not asked |0 0 0 0 6714 6714
A little | 489 887 897 3417 0 5690
In between a little and a lot | 589 725 535 1221 0 3070
A lot | 548 256 123 248 0 1175
Total 1626 1868 1555 4886 6714 16649

Step 27. Create an ANXIETY INDICATOR (ANX_INDICATOR) based on the two anxiety questions
ANX_1 R and ANX_3Y.

Syntax below creates ANX_INDICATOR based on the distribution in the cross-tabulation above.

If (missing(ANX_1 R) OR missing(ANX_3Y)) then ANX_INDICATOR=;

Else If (ANX_3Y le 4 AND (ANX_1 R=4 OR ANX_1 R =5)) then ANX_INDICATOR=1;
Else If (ANX_1_R=3) OR (ANX_1 R LT 3 AND ANX_3Y=1) OR

(ANX_1 R =2 AND ANX_3Y =2)) then ANX_INDICATOR = 2;

Else If ((ANX_1_R=1AND ANX 3Y =2) OR (ANX_1 R =2 AND ANX_3Y =3))

then ANX_INDICATOR = 3;

Else If (ANX_1 R=1AND ANX_3Y = 3) then ANX_INDICATOR =4;
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Proc Freq Data=SS. ExtendedSets2013;
Tables ANX_INDICATOR;

Run;
ANX_INDICATOR
Valid Cumulative
Frequency Percent Percent Percent
Valid 1.00 11600 67.0 69.7 69.7
2.00 3656 21.1 22.0 91.6
3.00 845 4.9 5.1 96.7
4.00 548 3.2 3.3 100.0
Total 16649 96.1 100.0
Missing 677 3.9
Total 17326 100.0
DEPRESSION

Step 28.Generate frequency distribution on DEP_1.
First, calculate frequency distributions on DEP_1: How often do you feel depressed?

If DEP_1in (1, 2, 3, 4, 5) then DEP_1_R=DEP_1;
Else IfDEP_1in (7, 8, 9) then DEP_1 R=;
Else DEP_1 R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables DEP_1 R;

Run;
DEP_1 R: How often do you feel depressed?
Frequency Percent Valid Percent Cumulative Percent
Valid Daily 756 4.4 4.5 4.5
Weekly 926 5.3 5.6 10.1
Monthly 1038 6.0 6.2 16.3
A few times a year 4012 232 24.1 40.4
Never 9929 57.3 59.6 100.0
Total 16661 96.2 100.0
Missing 665 3.8
Total 17326  100.0

Step 29. The syntax below recodes DEP 3 into DEP 3Y to place “SOMEWHERE BETWEEN"
numerically in-between “A LITTLE” and “A LOT”. It also creates the category NOT ASKED, if DEP 1
is NEVER (1)
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If DEP_3 =1 then DEP_3Y=1;
Else If DEP_3=2 then DEP_3Y=3;
Else If DEP_3=3 then DEP_3Y=2;

Else If DEP_3in (7,8,9) then DEP_3Y=;

If DEP_1 =5 then DEP_3Y=0;

Proc Freq Data=SS. ExtendedSets2013;

Tables DEP_3Y;

Run;
DEP_3Y: Level of feelings last time felt depressed
Frequency Percent Valid Percent Cumulative Percent
Valid  Not asked 9929 573 59.6 59.6
A little 3775 218 22.7 82.3
In between a little and a lot 2016 11.6 121 94.4
A lot 935 5.4 5.6 100.0
Total 16655  96.1 100.0
Missing 671 3.9
Total 17326  100.0

Step 30. Generate a cross-tabulation of the depression Extended Set questions: DEP_1_R and DEP_3Y.

The syntax below produces a cross-tabulation of DEP_1_R: How often do you feel depressed (a measure
of frequency) and DEP_3Y: The level of those feeling the last time you felt depressed (a measure of
intensity) — used to determine a single DEPRESSION INDICATOR (DEP_INDICATOR).

Proc Freq Data=SS. ExtendedSets2013;
Tables DEP_3Y*DEP_1 R/NOROW NOCOL NOPERCENT;

Run;

DEP_3Y: Level of feelings last time

felt depressed Daily
Not asked | 0
A little | 161
In between a little and a lot | 209
A lot | 381
Total 751

DEP_1 R: How often do you feel depressed?

A Few Times
Weekly = Monthly A Year Never Total
0 0 0 9929 9929
346 548 2708 0 3763
384 378 1042 0 2013
191 112 248 0 932
921 1038 3998 9929 16637
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Step 31. Create a DEPRESSION INDICATOR (DEP_INDICATOR) based on the two depression
questions DEP_1 R and DEP_3Y.

Syntax below creates DEP_INDICATOR based on the distribution in the cross-tabulation above.

If (missing(DEP_1_R) OR missing(DEP_3Y)) then DEP_INDICATOR = ;

Else If (DEP_3Y Le 4 AND (DEP_1 R=4OR DEP_1 R =5)) then DEP_INDICATOR=1;
Else If (DEP_1_R=3) OR (DEP_1_R LT 3 AND DEP_3Y=1) OR

(DEP_1 =2 AND DEP_3Y = 2)) then DEP_INDICATOR = 2;

Else If (DEP_1_R=1AND DEP_3Y =2) OR (DEP_1 R =2 AND DEP_3Y =3))

then DEP_INDICATOR = 3;

Else If (DEP_1_R =1 AND DEP_3Y = 3) then DEP_INDICATOR = 4;

Proc Freq Data=SS. ExtendedSets2013;
Tables DEP_INDICATOR;

Run;
DEP_INDICATOR
Valid Cumulative
Frequency Percent Percent Percent
Valid 1.00 13927 80.4 83.7 83.7
2.00 1929 11.1 11.6 95.3
3.00 400 2.3 2.4 97.7
4.00 381 2.2 2.3 100.0
Total 16637 96.0 100.0
Missing 689 4.0
Total 17326 100.0
PAIN

Step 32.Generate frequency distribution on PAIN_2.
First, calculate frequency distributions on PAIN_2: Frequency of pain in the past 3 months.

If PAIN_2in (1, 2, 3, 4) then PAIN_2_R=PAIN_2;
Else If PAIN_2in (7, 8, 9) then PAIN_2 R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables PAIN_2 R;
Run;
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PAIN_2 R: Frequency of pain in past 3 months

Valid Cumulative
Frequency Percent Percent Percent

Valid Never 6636 38.3 39.8 39.8
Some days 6556 37.8 39.3 79.2
Most days 1227 7.1 7.4 86.5
Every day 2245 13.0 13.5 100.0
Total 16664 96.2 100.0

Missing 662 3.8

Total 17326 100.0

Step 33. The syntax below recodes PAIN 4 into PAIN 4Y to place “SOMEWHERE BETWEEN"
numerically in-between “A LITTLE” and “A LOT”. It also creates the category NOT ASKED, if
PAIN_2 is NEVER (1).

If PAIN_4 =1 then PAIN_4Y=1;

Else If PAIN_4 =2 then PAIN_4Y=3;

Else If PAIN_4 =3 then PAIN_4Y=2:

Else If PAIN_4 in (7,8,9) then PAIN_4Y=;

If PAIN_2=1 then PAIN_4Y=0;

Proc Freq Data=SS. ExtendedSets2013;
Tables PAIN_4Y;

Run;
PAIN_4Y: How much pain you had last time you had pain?
Frequency Percent Valid Percent Cumulative Percent
Valid  Not asked 6636  38.3 39.8 39.8
A little 4865 28.1 29.2 69.0
In between a little and a lot 3296 19.0 19.8 88.8
A lot 1869 10.8 11.2 100.0
Total 16666 96.2 100.0
Missing 660 3.8
Total 17326  100.0

Step 34. Generate a cross-tabulation of the PAIN Extended Set questions: PAIN_2 R and PAIN_4Y.

The syntax below produces a cross-tabulation of PAIN_2_R: Frequency of pain in the past 3 months and
PAIN_4Y: How much pain you has the last time you had pain (a measure of intensity) — used to
determine a single PAIN INDICATOR (P_INDICATOR).
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Proc Freq Data=SS. ExtendedSets2013;
Tables PAIN_4Y*PAIN 2 R/NOROW NOCOL NOPERCENT;

Run;

PAIN_2 R: Frequency of pain in past 3 months

PAIN_4Y: How much pain you Some Most Every

had last time you had pain Never days days day Total
Not asked 6636 0 0 0 6636
A little 4136 323 401 4860
In between a little and a lot 1772 624 896 3296
A lot 645 278 944 1867

Total 6636 6553 1225 2241 16655

Step 35. Create a PAIN INDICATOR (P_INDICATOR) based on the two PAIN questions PAIN_2_ R and

PAIN_4Y.

Syntax below creates P_INDICATOR based on the distribution in the cross-tabulation above.
If (PAIN_2_R =1) OR (PAIN_4Y =1 AND (PAIN_2_R =2 OR PAIN_2_R = 3)) then

P_INDICATOR =1;

Else If (PAIN_2_R =2 AND (PAIN_4Y =2 OR PAIN_4Y = 3)) OR (PAIN_2 R =3 AND
PAIN_4Y = 2) OR (PAIN_2_R =4 AND PAIN_4Y = 1)) then P_INDICATOR = 2;
Else If (PAIN_2 R =3 AND PAIN_4Y = 3) OR (PAIN_2_R =4 AND PAIN_4Y =2) then

P_INDICATOR = 3;

Else If (PAIN_2_R =4 AND PAIN_4Y = 3) then P_INDICATOR = 4;

Proc Freq Data=SS. ExtendedSets2013;

Tables P_INDICATOR;
Run;

P_INDICATOR

Frequency Percent Valid Percent Cumulative Percent

Valid 1.00 11095 64.0

2.00 3442 199
3.00 1174 6.8
4.00 944 54
Total 16655  96.1
Missing 671 3.9
Total 17326  100.0

66.6
20.7
7.0
5.7
100.0

66.6
87.3
94.3
100.0

FATIGUE (Tired)

Step 36.Generate frequency distribution on FATIGUE Extended Set questions Tired_1, Tired_2 and

Tired_3.

First, calculate frequency distributions on TIRED_1: How often you felt tired in the past 3 months.
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If TIRED_1in (1, 2, 3, 4) then TIRED_1_R=TIRED _1;
Else If TIRED_1in (7, 8, 9) then TIRED_1_R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables TIRED_1 R;
Run;

TIRED_1 R:How often felt very tired or exhausted in past 3 months

Frequen Valid Cumulative
cy Percent Percent Percent

Valid  Never 5619 324 33.7 33.7
Some days 8391 48.4 50.4 84.1
Most days 1632 9.4 9.8 93.9
Every day 1019 59 6.1 100.0
Total 16661 96.2 100.0

Missing 665 3.8

Total 17326 100.0

Step 37. Recode Tired_2 to 0 (not asked) if Tired_1 is 1 (Never).
If response to TIRED _1 is 1: Never, then TIRED_2 (How long most recent tired or exhausted feelings
lasted) is not asked. This variable is recoded so these individuals are included in the syntax below.

If TIRED_2 in (1, 2, 3) then TIRED_2_R=TIRED_2;
Else If TIRED_2in (7, 8, 9) then TIRED_2 R=;
Else TIRED_2_R=;

If TIRED_1 =1 then TIRED_2_R=0;
Proc Freq Data=SS. ExtendedSets2013;
Tables TIRED 2 R;

Run;

TIRED_2_R: How long most recent tired or exhausted feelings lasted?

Valid Cumulative
Frequency  Percent Percent Percent

Valid  Not asked 5619 324 33.8 33.8
Some of the day 8036 46.4 48.3 82.0
Most of the day 1955 11.3 11.7 93.8
All of the day 1036 6.0 6.2 100.0
Total 16646 96.1 100.0

Missing 680 3.9

Total 17326 100.0
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Step 38. The syntax below recodes TIRED 3 into TIRED 3Y to place “SOMEWHERE BETWEEN”

numerically in-between “A LITTLE” and “A LOT".

Also, if response to TIRED 1 is 1: Never, then TIRED_3 (Level of tiredness) is not asked. This variable
is recoded so these individuals are included in the syntax below.

If TIRED_3 =1 then TIRED_3Y=1,
Else If TIRED_3 =2 then TIRED_3Y=3;
Else If TIRED_3 =3 then TIRED_3Y=2;

Else If TIRED 3in (7, 8, 9) then TIRED_3Y=;

If TIRED_1=1 then TIRED_3Y=0;

Proc Freq Data=SS. ExtendedSets2013;
Tables TIRED_3Y;

Run;
TIRED_3Y: Level of tiredness
Valid Cumulative
Frequency Percent Percent Percent
Valid  Not asked 5619 324 33.8 33.8
A little 4912 28.4 29.5 63.3
In between a little and a lot 4030 23.3 24.2 87.5
A lot 2087 12.0 125 100.0
Total 16648 96.1 100.0
Missing 678 3.9
Total 17326 100.0

Step 39. Generate a cross-tabulation of the FATIGUE Extended Set questions: TIRED 1 R,

TIRED_2_Rand TIRED_3Y.

The syntax below produces a cross-tabulation of TIRED_1_R: How often you felt tired or exhausted in
the past 3 months (a measure of frequency) and TIRED_2_R: How long those feelings lasted (a measure
of duration) and TIRED_3Y: The level of tiredness (a measure of intensity) — used to determine a single

TIRED INDICATOR (T_INDICATOR).

Proc Freq Data=SS. ExtendedSets2013;

Tables TIRED_3Y* TIRED_2_R*TIRED_1_R /NOROW NOCOL NOPERCENT;

Run;
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TIRED_1: How often felt very tired or
TIRED_3Y: Level TIRED_2: How long  exhausted in past 3 months: Frequency
of tiredness: feelings lasted: Some Most
Intensity Duration Never days days Every day | Total
Not asked Not asked 5619 5619
A little Some of the day 4066 264 124 4454
Most of the day 252 73 27 352
All of the day 68 15 18 101
In between Some of the day 2224 400 166 2791
Most of the day 497 266 123 887
All of the day 194 71 84 349
A lot Some of the day 536 165 84 785
Most of the day 297 255 160 713
All of the day 237 118 230 585
TOTAL 5619 8371 1627 1016 16633

Step 40. Create a FATIGUE INDICATOR (T_INDICATOR) based on the three FATIGUE questions
TIRED_1 R, TIRED_2_ R and TIRED_3Y.

Syntax below creates T_INDICATOR based on the distribution in the cross-tabulation above.

If (TIRED_1_R =1) then T_INDICATOR = 1;

Else If (TIRED_1 R=2AND TIRED_2 R=1AND TIRED_3Y =1) then T_INDICATOR =1,

Else If (TIRED_1_R = 3 AND TIRED_2 R =1 AND TIRED_3Y = 1) then T_INDICATOR = 1;

Else If (TIRED_1 R in (2, 3, 4) AND TIRED 2 R in (2,3) AND TIRED_3Y =1) then T_INDICATOR
=2:

Else If (TIRED_1_Rin (2, 3, 4) AND TIRED 2 R =1 AND TIRED_3Y =2) then T_INDICATOR = 2;
Else If (TIRED_1_R =2 AND TIRED_2 R =2 AND TIRED_3Y =2) then T_INDICATOR = 2;

Else If (TIRED_1_R =4 AND TIRED_2_R =1 AND TIRED_3Y =1) then T_INDICATOR = 2;

Else If (TIRED_1_Rin (3,4) AND TIRED_2_R =2 AND TIRED_3Y =2) then T_INDICATOR = 3;
Else If (TIRED_1 Rin (2, 3, 4) AND TIRED_2 R =3 AND TIRED_3Y =2) then T_INDICATOR =3;
Else If (TIRED_1 Rin (2, 3, 4) AND TIRED_2 R =1 AND TIRED_3Y =3) then T_INDICATOR =3;
Else If (TIRED_1_R in (2, 3) AND TIRED 2 R =2 AND TIRED_3Y =3) then T_INDICATOR = 3:
Else If (TIRED_1_R =2 AND TIRED 2 R =3 AND TIRED_3Y =3) then T_INDICATOR = 3;

Else If (TIRED_1_R =4 AND TIRED_2 R =2 AND TIRED_3Y =3) then T_INDICATOR = 4

Else If (TIRED_1_R in (3, 4) AND TIRED_2 R =3 AND TIRED_3Y =3) then T_INDICATOR = 4:
Else T_INDICATOR = ;

Proc Freq Data=SS. ExtendedSets2013;
Tables T_INDICATOR;
Run;
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T_Indicator

Valid Cumulative
Frequency Percent Percent Percent
Valid  1.00 9949 57.4 59.8 59.8
2.00 3864 22.3 23.2 83.0
3.00 2312 13.3 13.9 96.9
4.00 508 2.9 3.1 100.0
Total 16633 96.0 100.0
Missing 693 4.0
Total 17326 100.0
Creating Disability Status Indicators
Type of Disability Indicator Number of Questions
SS 1 Short Set (SS) 6

Extended Set

SS + Hearing-indicator, Mobility-indicator, Cognition-indicator,

S Upper Body-indicator + PFAD (4)* 25

ES 2 SS+ Hearinq_—inqlicator, Mobility-indicator, Cognition-indicator, 20
—~  Upper Body-indicator + AD (4)"

Short Set Enhanced

ES 3 SS + Upper Body-indicator + AD (4)° 12

* PFAD (4): Pain, Fatigue, Anxiety and Depression Indicators at level 4
1 AD (4): Anxiety and Depression Indicators at level 4

SS_1: WG Short Set Disability Indicator based on the 6 short set questions

The syntax below calculates the WG Short Set Disability Indicator based on the six short set questions
SS_1 at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT
OF DIFFICULTY or CANNOT DO AT ALL.
If (missing(vision) AND missing(hearing) AND missing(mobility) AND
missing(communication) AND missing(Self_Care) AND missing(Cognition)) then SS_1 = ;
Else If ((vision = 3 OR vision = 4) OR (hearing= 3 OR hearing =4 ) OR
(mobility= 3 OR mobility = 4) OR (communication= 3 OR communication = 4) OR
(Self_Care = 3 OR Self_Care = 4) OR (Cognition = 3 OR Cognition = 4)) then SS_1 =1;
Else SS 1=2;
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Proc Freq Data=SS. ExtendedSets2013;

Tables SS_1;
Run;
SS_1: WG Short Set Disability Identifier
Valid Weighted
Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 14905 86.0 88.8 90.5
WITH DISABILITY 1872 10.8 11.2 9.5
Total 16777 96.8 100.0
Missing 549 3.2
Total 17326 100.0

ES 1:SS_1 + Hearing-indicator, Mobility-indicator, Cognition-indicator + Upper Body-indicator
+PFAD (4)

The syntax below calculates an Extended Set Disability Indicator (ES_1) based on 25 questions at the
recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF
DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4 for the
Hearing-, Mobility-, Cognition- and Upper body-Indicators; and severity level 4 for Pain-, Fatigue-,
Anxiety- and Depression-Indicators.

If ( missing(SS_1) AND (H_INDICATOR LT 1 OR H_INDICATOR GT 4) AND
(MOB_INDICATOR LT 1 OR MOB_INDICATOR GT 4) AND missing(COM_SS) AND
missing(SC_SS) AND (COG_INDICATOR LT 1 OR COG_INDICATOR GT 4) AND
(UB_INDICATOR LT 1 OR UB_INDICATOR GT 4) AND missing(P_INDICATOR) AND
(T_INDICATOR LT 1 OR T_INDICATOR GT 4) AND (ANX_INDICATORLT 10OR
ANX_INDICATOR GT 4) AND (DEP_INDICATOR LT 1 OR DEP_INDICATOR GT 4))
then ES 1=;

Else If (SS_ 1=10OR (H_INDICATOR =3 OR H_INDICATOR = 4) OR (MOB_INDICATOR
=3 OR MOB_INDICATOR =4) OR (COG_INDICATOR =3 OR COG_INDICATOR =4) OR
(UB_INDICATOR =3 OR UB_INDICATOR =4) OR P_INDICATOR =4 OR T_INDICATOR
=4 OR ANX_INDICATOR =4 OR DEP_INDICATOR = 4) then ES_1=1;

Else ES 1=2;

Proc Freq Data=SS. ExtendedSets2013;
TablesES 1;
Run;
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ES 1: WG-ES Disability Indicator based on 11 domains and 25 questions
Valid Weighted

Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 13823 79.8 79.8 82.3
WITH DISABILITY 3503 20.2 20.2 17.7
Total 17326 100.0 100.0

ES 2:SS 1+ Hearing-indicator, Mobility-indicator, Cognition-indicator + Upper Body-indicator
+ AD (4)

The syntax below calculates an Extended Set Disability Indicator (ES_2) based on 20 questions at the
recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF
DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4 for the
Hearing-, Mobility-, Cognition- and Upper body-Indicators; and severity level 4 for Anxiety- and
Depression-Indicators.

If (missing(SS_1) AND (H_INDICATOR LT 1 ORH_INDICATOR GT 4) AND
(MOB_INDICATOR LT 1 OR MOB_INDICATOR GT 4) AND missing(COM_SS) AND
missing(SC_SS) AND (COG_INDICATOR LT 1 OR COG_INDICATOR GT 4) AND
(UB_INDICATOR LT 1 OR UB_INDICATOR GT 4) AND (ANX_INDICATOR LT 1 OR
ANX_INDICATOR GT 4) AND (DEP_INDICATOR LT 1 OR DEP_INDICATOR GT 4))
then ES 2 =;

Else If (SS_1=1OR (H_INDICATOR =3 OR H_INDICATOR = 4) OR (MOB_INDICATOR
=3 OR MOB_INDICATOR = 4) OR (COG_INDICATOR = 3 OR COG_INDICATOR =4) OR
(UB_INDICATOR =3 OR UB_INDICATOR =4) OR ANX_INDICATOR =4 OR
DEP_INDICATOR =4) then ES 2 =1;

Else ES 2=2;

Proc Freq Data=SS. ExtendedSets2013;
Tables ES 2;
Run;

ES 2: WG-ES Disability Indicator based on 9 domains and 20 questions
Valid Weighted

Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 14222 82.1 82.1 84.6
WITH DISABILITY 3104 17.9 17.9 15.4
Total 17326 100.0 100.0

ES_3:8S_1 + Upper Body-indicator + AD (4)

The syntax below calculates the WG Short Set ENHANCED Disability Indicator (ES 3) based on the
12 questions at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded
A LOT OF DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4
for the Upper body-Indicators; and severity level 4 for Anxiety- and Depression-Indicators.
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IT (missing(vision) AND missing(hearing) AND missing(mobility) AND
missing(communication) AND missing(Self_Care) AND missing(Cognition) AND
missing(UB_INDICATOR) AND missing(ANX_INDICATOR) AND
missing(DEP_INDICATOR) ) then ES_3 =

Else If ((vision = 3 OR vision = 4) OR (hearing= 3 OR hearing = 4) OR (mobility= 3 OR
mobility = 4) OR (communication= 3 OR communication = 4) OR (Self_Care = 3 OR Self_Care
= 4) OR (Cognition = 3 OR Cognition = 4) OR (UB_INDICATOR=3 OR UB_INDICATOR=4)
OR ANX_INDICATOR =4 OR DEP_INDICATOR = 4)

then ES 3=1;

Else ES _3=2;

Proc Freq Data=SS. ExtendedSets2013;
Tables ES_3;
Run;

ES 3: WG-SS Enhanced Disability Indicator based on 9 domains and 12 questions
Valid Weighted

Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 14393 83.1 85.8 87.7
WITH DISABILITY 2384 13.8 14.2 12.3
Total 16777 96.9 100.0
Missing 549 3.2
Total 17326 100.1

PHAN VIET THEM: Tai sao lai loai trir Pau va mét méi?

bang chu y 1a viéc loai trir cac 1anh vuc vé dau va mét moi tr mot sd Nhén Dang Khuyét Téat bén trén.
Trong ndi bd WG di thao luan nghiém tic vé cac lanh vuc nay. Noi dung ra, day khong phai 1a nhiing
lanh vuc thue hién chirc ning — va cac phan tich cta ching t6i cho thiy rang ca hai lanh vuc nay déu co
mdi twong quan cao véi cac lanh vuc khac — va néu dua cac 1anh vuc nay vao thi ty 16 khuyét tat c6 thé
rat cao.

Cudi cing, xét vé mit so sanh qudc té, nhitng lanh vuc nay nay it phd bién hon; nghia 13, ching d& bi tac
dong boi nhitng anh hudng cua dia phuong, van hoa xa hoi hon cac lanh vuc thyc hién chirc nang khac.

Vi nhiing 1y do nay, chiing toi da quyét dinh loai trir nhitng 1inh vyuc nay khoi mot s6 phan tich, mac du
nhing lanh vyc nay ciing c6 thé dugc dua vao nhitng phén tich bo sung do céc t6 chirc NSO thuc hién
theo ting qudc gia.
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APPENDIX 1: SAS Code used in the NHIS data file

Data ES.ExtendedSetsl3;

Set NHIS.Funcdisbl3;

*Step 1. Generate frequency distribution for each domain question: Vision
VIS SS is the WG-SS Vision question;
*Convert 7,8,9 to missing;

If VIS SsS2 in (1,2,3,4) then Vision=VIS SS2;
Else Vision=.;

*Step 2. Generate frequency distribution for each domain question:
Communication

COM SS is the WG-SS Communication question;

*Convert 7,8,9 to missing;

If COM_SS in (1,2,3,4) then communication=COM SS;
Else communication=.;

*Step 3. Generate frequency distribution for each domain question (including
domains with multiple questions): Hearing

HEAR SS is the WG-SS Hearing question.

HEAR:B is Difficulty hearing conversation with one person in quiet room.
HEAR 4 is Difficulty hearing one person in noisier room;

*Convert 7,8,9 to;

If HEAR SS2 in (1,2,3,4) then hearing=HEAR SS2;
Else If HEAR SS2 in (7,8,9 ) then hearing=.;

If HEAR 3 in (1,2,3,4) then HEAR 3 R=HEAR 3;
Else If HEAR 3 in (7,8,9 ) then HEAR 3 R=.;

If HEAR 4 in (1,2,3,4) then HEAR 4 R=HEAR 4;
Else If HEAR 4 in (7,8,9 ) then HEAR 4 R=.;

*Step 4. For Hearing questions, recode Hear 3 R and Hear 4 R to 4 (cannot do
at all) if HEAR SS2 is 4 (Cannot do at all).

IF HEAR SS = 4 HEAR 3 R = 4.

IF HEAR SS = 4 HEAR 4 R = 4.;

If hearing 4 and HEAR 3 R
Else HEAR 3 X=HEAR 3 R;

then HEAR 3 X = 4;

If hearing = 4 and HEAR 4 R =. then HEAR 4 X = 4;
Else HEAR 4 X=HEAR 4 R;

*Step 5. Generate a cross-tabulation of the two Hearing Extended Set
gquestions: HEAR 3 X and HEAR 4 X.;

*Step 6. Create a HEARING INDICATOR (H INDICATOR) based on the two additional
hearing questions HEAR 3 X and HEAR 4 X

The syntax below creates a HEARING INDICATOR (H INDICATOR) based on the two
additional hearing questions HEAR 3 X and HEAR 4 X;

IF (HEAR 3 X = 1 AND HEAR 4 X = 1) OR (HEAR 3 X = 1 AND HEAR 4 X = 2) then
H INDICATOR = 1;
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Else IF (HEAR 3
AND HEAR 4 X
Else IF (HEAR - 2) OR (HEAR 3 X = 2
AND HEAR 4 X ) OR (HEAR 3 X = 1 AND HEAR 4 X = 4)) then H INDICATOR
Else IF ((HEAR 3 X = 3 AND HEAR 4 X = 3) OR HEAR 3 X = 4 OR (HEAR 4 X = 4
AND (HEAR 3 X = 2 OR HEAR 3 X = 3))) then H INDICATOR = 4;

= 2 AND (HEAR 4 X = 1 OR HEAR 4 X
) then H INDICATOR = 2;

X 2)) OR (HEAR 3 X =1
3

X = 3 AND (HEAR 4 X = 1 OR HEAR 4 X
3

w
Il
Il
Il
w

*Step 7. Generate frequency distribution for each domain question: Cognition
COG_SS is the WG-SS Cognition question.

Cognition: Degree of difficulty remembering or concentrating;

*Recode 7,8,9 to .;

If COG_SS in (1,2,3,4) then Cognition=COG_SS;
Else If COG_SS in (7,8,9) then Cognition=.;

*If response to COG-SS 2, 3 or 4 then the respondent is asked COG 1: whether
they have difficulty remembering, concentrating or both. ;

If COG 1 in (1,2,3) then COG_1 R=COG_1;
Else If COG 1 in (7,8,9) then COG 1 R=.;

*Step 8. Account for those who did not answer COG 1 (COG _SS is 1 - no
difficulty and they were skipped) by recoding COG 1 to 0 (No difficulty).

If response to COG-SS is 1: no difficulty, then the variable COG 1 is recoded
into COG 1A, and the value assigned is 0: no difficulty;

If COG_SS=1 then COG_1A=0;
Else COG_1A=COG 1 R;

*Step 9. Generate frequency distribution for remaining cognition questions.
Frequency distribution of the Cognition extended REMEMBERING questions: COG 2
and COG 3.;

If COG 2 in (1,2,3) then COG_2 R=COG 2;
Else If COG_2 in (7,8,9) then COG 2 R=.;

If COG 3 in (1,2,3) then COG 3 R=COG 3;
Else If COG 3 in (7,8,9) then COG 3 R=.;

*Step 10. Generate cross-tabulation of the two Cognition extended set
questions COG_2 by COG 3.;

*Step 11. Create a Remembering Indicator based on distribution of COG 2 and
COG_3. The syntax below creates a REMEMBERING INDICATOR (R _INDICATOR) based
on the additional remembering questions (COG 2 R and COG 3 R).

If COG SS is 1: no difficulty, then the Remembering Indicator is coded as 1:
the lowest level of difficulty;

IF (Cognition = 1) then R _INDICATOR = 1;

Else IF ((COG 2 R =1 AND COG 3 R = 1) OR (COG 3 R = 1 AND COG 2 R = 2) OR
(COG 3 R = 2 AND COG 2 R = 1)) then R INDICATOR = 2;

Else IF (COG 3 R = 2 AND COG 2 R = 2) then R INDICATOR = 3;

Else IF (COG_3 R = 3 OR COG 2 R = 3) then R_INDICATOR = 4;

*Step 12. If COG 1A is coded as 2 (concentrating only), then the Remembering
Indicator is coded as 5.

These 388 individuals are respondents who were not included in the
Remembering Indicator since they had only difficulty concentrating. ;
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Else IF (COG_1A = 2) then R INDICATOR = 5;
Else R_INDICATOR = 0;

*Step 13. Generate frequency distribution of the Remembering Indicator.;

*Step 14. Supplement Remembering Indicator with information on difficulty
concentrating.

The syntax below adds information on whether cognitive difficulties are
compounded by difficulty concentrating in addition to difficulty remembering.
Create a COGNITION INDICATOR (COG _INDICATOR) based on R _INDICATOR (above) and
the cognition question (COG _1). The 388 individuals with ‘concentrating only’
were allocated as follows:

1. 357 with a little difficulty on COG_SS question were classified as 2

2. 30 with a lot of difficulty on COG _SS question were classified as 3

3. 1 with cannot do on COG SS question was classified as 4

Those with both rememberin§ and concentrating difficulty were upgraded 36
individuals from 2 to 3, and 125 individuals from 3 to 4.;

COG_INDICATOR=R INDICATOR;
IF (R_INDICATOR = 5 AND Cognition = 2) then COG_INDICATOR = 2;

Else IF (R _INDICATOR = 5 AND Cognition = 3) then COG INDICATOR = 3;

Else IF (R _INDICATOR = 5 AND Cognition = 4) then COG_INDICATOR = 4;

IF (R_INDICATOR = 2 AND COG 1 R = 3 AND Cognition = 3) then COG_INDICATOR =
3;

Else IF (R_INDICATOR = 3 AND COG_1 R = 3 AND Cognition = 3) then
COG_INDICATOR = 4; o

*Step 15. Generate frequency distribution of the Cognition Indicator.;

*Step 16. Generate frequency distribution for each domain question: Self-care
and Upper body functioning.;

*UB_SS is the WG-SS Self-care question.

Recode 7,8,9 to .;

If UB SS in (1,2,3,4) then Self care =UB_SS;
Else Self care =.;

If UB 1 in (1,2,3,4) then UB 1 R=UB 1;
Else If UB 1 in (7,8,9) then UB 1 R=.;

If UB 2 in (1,2,3,4) then UB 2 R=UB 2;
Else If UB 2 in (7,8,9) then UB 2 R=.;

*Step 17. Generate a cross-tabulation of the two Upper body Extended Set
questions: UB 2 R and UB 1 R.;

*Step 18. Create an UPPER BODY INDICATOR (UB INDICATOR) based on the two
additional self care gquestions UB 2 R and UB 3 R.

Syntax below creates UB INDICATOR based on the distribution in the cross-
tabulation above.;

IF (UB 1 R =4 O0R UB 2 R = 4) then UB INDICATOR = 4;

Else IF UB INDICATOR NE 4 AND (UB 1 R = 3 OR UB 2 R = 3) then UB INDICATOR =
3;

Else IF UB_INDICATOR NE 4 AND UB INDICATOR NE 3 AND (UB 1 R =2 OR UB 2 R =
2) then UB INDICATOR = 2;

Else IF UB_INDICATOR NE 4 AND UB_INDICATOR NE 3 AND UB_INDICATOR NE 2 AND
(UB1 R=1O0RUB2R=1) then UB_INDICATOR = 1.;
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*Step 19. Generate frequency distribution for each domain question: Mobility.
MOB SS is the WG-SS Mobility question

First, calculate frequency distributions on the short set and two extended
set WALKING questions (MOB 4,MOB 5);

If MOB SS2 in (1,2,3,4) then Mobility=MOB SS2;
Else Mobility=.;

If MOB 4 in (1,2,3,4) then MOB 4 R=MOB 4;
Else If MOB 4 in (7,8,9) then MOB 4 R=.;

If MOB 5 in (1,2,3,4) then MOB 5 R=MOB 5;
Else If MOB 5 in (7,8,9) then MOB 5 R=.;

*Step 20. Generate a cross-tabulation of the walking distance questions:
MOB 4 R (Difficulty walking 100 yards without equipment) and MOB 5 R
(Difficulty walking 1/3 mile without equipment ) to determine a single
WALKING INDICATOR.

NOTE: 623 individuals who responded cannot do at all to MOB 4 were not asked
MOB 5 and they do not appear in the table below.

They are, however, accounted for in the WALKING indicator calculation;

*Step 21. Create a WALKING INDICATOR (WALK INDICATOR) based on the two
additional walking questions MOB 4 R and MOB 5 R.

Syntax below creates WALKING INDICATOR based on the distribution in the
cross-tabulation above.;

WALK_INDICATOR=0;

IF (MOB 4 R = 1 AND (MOB_ 5 R=1 OR MOB 5 R = 2
Else IF (MOB 4 R = 1 AND MOB 5 R = 3) OR (MOB 4 .
MOB 5 R = 2 OR MOB 5 R = 3)) then WALK INDICATOR

)) then WALK INDICATOR = 1;

R

Else IF (MOB 4 R = 1 AND MOB 5 R = 4) OR (MOB 4 R
R

= 2 AND (MOB 5 R = 1 OR

3 AND (MOB 5 R = 1 OR
MOB 5 R = 2 OR MOB 5 R = 3)) then WALK INDICATOR
Else IF (MOB 4 R

=2 AND MOB 5 R = 4) OR (MOB 4
WALK INDICATOR = 4;

3 AND MOB 5 R = 4) then
*Syntax below includes the 623 who responded cannot do at all to MOB 4 into
the WALKING INDICATOR;

Else IF (WALK INDICATOR = O AND MOB 4 R = 4) then WALK INDICATCR = 4;
*RECODE WALK INDICATOR (0 = SYSMIS).;

IF WALK_INDICATOR=O then WALK INDICATOR=.;

*Step 22. Supplement Walking Indicator with information on difficulty
Climbing steps (MOB_6) . CROSSTABS WALK INDICATOR BY MOB 6.;

If MOB 6 in (1,2,3,4) then MOB 6 R=MOB 6;
Else If MOB 6 in (7,8,9) then MOB 6 R=.;

*Step 23. Create a mobility indication (MOB_INDICATOR) with information
garnered from cross-tabulation above.;

MOB INDICATOR = WALK INDICATOR;
IF (WALK INDICATOR = 2 AND MOB 6 R = 3) then MOB INDICATOR = 3;

Else IF (WALK INDICATOR = 1 AND MOB 6 R = 3) then MOB INDICATOR = 2;
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Else IF (WALK INDICATOR
Else IF (WALK INDICATOR

2 AND MOB 6 R = 4) then MOB_ INDICATOR =
1 AND MOB 6 R = 4) then MOB INDICATOR =

|
=

|
w

*Step 24. Generate frequency distribution on ANX 1 (Anxiety);

If ANX 1 in (1,2,3,4,5) then ANX 1 R=ANX 1;
Else If ANX 1 in (7,8,9) then ANX 1 R=.;

*Step 25. The syntax below recodes ANX 3R into ANX 3Y to place “SOMEWHERE
BETWEEN” numerically in-between “A LITTLE” and “A LOT”;

If ANX 3R =1 then ANX 3Y=1;

Else If ANX 3R =2 then ANX 3Y=3;

Else If ANX 3R =3 then ANX 3Y=2;

Else If ANX 3R in (7,8,9) then ANX 3Y=.;

*Recode ANX 3Y to 0 (not asked) 1f ANX 1 is 5 (Never).;
If ANX 1 =5 then ANX 3Y=0;

*Step 26. Generate a cross-tabulation of the anxiety Extended Set questions:
ANX 1 R and ANX 3Y.;

*Step 27. Create an ANXIETY INDICATOR (ANX INDICATOR) based on the two
anxiety questions ANX 1 R and ANX 3Y.

Syntax below creates ANX INDICATOR based on the distribution in the cross-
tabulation above.;

IF (missing(ANX 1 R) OR missing (ANX 3Y)) then ANX INDICATOR=.;

Else IF ( ANX 3Y le 4 AND (ANX 1 R = 4 OR ANX 1 R = 5)) then ANX INDICATOR=1;
Else IF ((ANX 1 R = 3) OR (ANX 1 R LT 3 AND ANX 3Y=1) OR (ANX 1 R = 2 AND
ANX_3Y = 2)) then ANX INDICATOR = 2;

Else IF ((ANX 1 R = 1 AND ANX 3Y = 2) OR (ANX 1 R = 2 AND ANX 3Y = 3)) then
ANX_INDICATOR = 3;

Else IF ( ANX 1_R = 1 AND ANX_3Y = 3) then ANX_INDICATOR = 4;

*Step 28. Generate frequency distribution on DEP 1 (Depression);

If DEP. 1 in (1,2,3,4,5) then DEP 1 R=DEP 1;
Else If DEP_1 in (7,8,9) then DEP 1 R=.;
Else DEP 1 R=.;

*Step 29. The syntax below recodes DEP 3R into DEP_3Y to place “SOMEWHERE
BETWEEN” numerically in-between “A LITTLE” and “A LOT”;

If DEP 3R =1 then DEP 3Y=1;

Else If DEP 3R =2 then DEP 3Y=3;

Else If DEP_ 3R =3 then DEP_3Y=2;

Else If DEP_3R in (7,8,9) then DEP_3Y=.;

*Recode DEP 3Y to 0 (not asked) if DEP 1 is 5 (Never).;
If DEP_1 =5 then DEP_3Y=0;

*Step 30. Generate a cross-tabulation of the depression Extended Set
questions: DEP 1 R and DEP 3Y.;
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*Step 31. Create a DEPRESSION INDICATOR (DEP_ INDICATOR) based on the two
depression questions DEP_1 R and DEP 3Y;

IF (missing(DEP 1 R) OR missing(DEP_3Y)) then DEP_INDICATOR = .;

Else IF (DEP 3Y Le 4 AND (DEP 1 R = 4 OR DEP 1 R = 5)) then DEP_INDICATOR=1;
Else IF ((DEP_l_R = 3) OR (DEP_l R LT 3 AND DEP_3Y=1) OR (DEP_l = 2 AND
DEP_3Y = 2)) then DEP INDICATOR 2;

Else IF ((DEP_1 R = 1 AND DEP 3Y = 2) OR (DEP_1 R = 2 AND DEP 3Y = 3)) then
DEP INDICATOR = 3
Else IF (DEP_1 R

|| ~e

1 AND DEP_3Y = 3) then DEP INDICATOR = 4;
*Step 32. Generate frequency distribution on PAIN 2 (Pain);

If PAIN 2 in (1,2,3,4) then PAIN 2 R=PAIN 2;
Else If PAIN 2 in (7,8,9) then PAIN 2 R=.;

*Step 33. The syntax below recodes PAIN 4 into PAIN 4Y to place “SOMEWHERE
BETWEEN” numerically in-between “A LITTLE” and “A LOT”
It also creates the category NOT ASKED, if PAIN 2 is NEVER (1);

If PAIN 4 =1 then PAIN 4v=1;

Else If PAIN 4 =2 then PAIN 4Y=3;

Else If PAIN 4 =3 then PAIN 4Y=2;

Else If PAIN 4 in (7,8,9) then PAIN 4Y=.;

If PAIN 2=1 then PAIN 4Y=0;

*Step 34. Generate a cross-tabulation of the PAIN Extended Set questions:
PAIN 2 R and PAIN 4Y.;

*Step 35. Create a PAIN INDICATOR (P INDICATOR) based on the two PAIN
gquestions PAIN 2 R and PAIN 4Y.

Syntax below creates P _INDICATOR based on the distribution in the cross-
tabulation above.;

IF (PAIN 2 R = 1) OR (PAIN 4Y = 1 AND (PAIN 2 R = 2 OR PAIN 2 R = 3)) then
P _INDICATOR = 1;

Else IF ((PAIN 2 R = 2 AND (PAIN 4Y = 2 OR PAIN 4Y = 3)) OR (PAIN 2
AND PAIN 4Y = 2) OR (PAIN 2 R = 4 AND PAIN 4Y = 1)) then P_INDICATOR
Else IF (PAIN 2 R = 3 AND PAIN 4Y = 3) OR (PAIN 2 R = 4 AND PAIN 4Y =
then P_INDICATOR = 3;

Else IF (PAIN 2 R = 4 AND PAIN 4Y = 3) then P_INDICATOR = 4;

3

=
NN

*Step 36. Generate frequency distribution on FATIGUE Extended Set questions
Tired 1 (How often you felt tired in the past 3 months.),
Tired 2 and Tired 3;

If TIRED 1 in (1,2,3,4) then TIRED 1 R=TIRED 1;
Else If TIRED 1 in (7,8,9) then TIRED 1 R=.;

If TIRED 2 in (1,2,3) then TIRED 2 R=TIRED 2;
Else If TIRED_2 in (7,8,9) then TIRED_Z_R=.;
Else TIRED 2 R=.;
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*Step 37. Recode Tired 2 to O (not asked) if Tired 1 is 1 (Never).;
If TIRED 1 =1 then TIRED 2 R=0;

*Step 38.recodes TIRED_3 into TIRED_BY to place “SOMEWHERE BETWEEN”
numerically in-between “A LITTLE” and “A LOT”.
Also, if response to TIRED 1 is 1: Never, then TIRED 3 is not asked;

If TIRED_3 =1 then TIRED_3Y=1;

Else If TIRED_3 =2 then TIRED_3Y=3;

Else If TIRED 3 =3 then TIRED 3Y=2;

Else If TIRED 3 in (7,8,9) then TIRED 3Y=.;
If TIRED 1=1 then TIRED 3Y=0;

*Step 39. Generate a cross-tabulation of the FATIGUE Extended Set questions:
TIRED 1 R, TIRED 2 R and TIRED 3Y.;

*Step 40. Create a FATIGUE INDICATOR (T INDICATOR) based on the three FATIGUE
guestions TIRED 1 R, TIRED 2 R and TIRED 3Y.;

IF (TIRED 1 R = 1) then T INDICATOR = 1;

Else IF (TIRED 1 R = 2 AND TIRED 2 R = 1 AND TIRED 3Y
1;

Else IF (TIRED 1 R = 3 AND TIRED 2 R = 1 AND TIRED 3Y = 1) then T INDICATOR
1;

1) then T INDICATOR

Else IF (TIRED 1 R in (2,3,4) AND TIRED 2 R in (2,3) AND TIRED 3Y =1) then
T INDICATOR = 2;

Else IF (TIRED 1 R in (2,3,4) AND TIRED 2 R =1 AND TIRED 3Y =2) then

T INDICATOR = 2;

Else IF (TIRED 1 R =2 AND TIRED 2 R =2 AND TIRED 3Y =2) then T INDICATOR =

Else IF (TIRED 1 R =4 AND TIRED 2 R =1 AND TIRED 3Y =1) then T INDICATOR = 2;

|
N

Else IF (TIRED 1 R in (3,4) AND TIRED 2 R =2 AND TIRED 3Y =2) then

T INDICATOR = 3;

Else IF (TIRED 1 R in (2,3,4) AND TIRED 2 R =3 AND TIRED 3Y =2) then
T INDICATOR = 3;

Else IF (TIRED 1 R in (2,3,4) AND TIRED 2 R =1 AND TIRED 3Y =3) then
T INDICATOR = 3;

Else IF (TIRED 1 R in (2,3) AND TIRED 2 R =2 AND TIRED 3Y =3) then

T INDICATOR = 3;
Else IF (TIRED 1 R

2 AND TIRED 2 R =3 AND TIRED 3Y =3) then T INDICATOR

Il
w

Else IF (TIRED 1 R =4 AND TIRED 2 R =2 AND TIRED 3Y =3) then T INDICATOR
Else IF (TIRED 1 R in (3,4) AND TIRED 2 R =3 AND TIRED 3Y =3) then

T INDICATOR = 4;

Else T INDICATOR = .;

Il
=

*SS_1: WG Short Set Disability Indicator based on the 6 short set questions.;

IF (missing(vision) AND missing(hearing) AND missing(mobility) AND

missing (communication) AND missing(Self care) AND missing(Cognition)) then
SS 1 = .;
Else IF ((vision = 3 OR vision = OR

4)
hearing= 3 OR hearing = 4) OR
mobility= 3 OR mobility = 4) OR
communication= 3 OR communication = 4) OR

—~ o~~~
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(Self care 3 OR Self care = 4) OR
(Cognition = 3 OR Cognition = 4)) then SS 1 = 1;
Else SS 1 = 2;

*ES_1: SS 1 + Hearing-indicator, Mobility-indicator, Cognition-indicator +
Upper Body-indicator + PFAD (4).

PFAD=only level 4 in Pain indictor, Fatigue indicator, Anxiety indictor, and
Depression indicator;

IF ( missing(SS_l) AND (H_INDICATOR LT 1 OR H INDICATOR GT 4) AND
(MOB_INDICATOR LT 1 OR MOB_INDICATOR GT 4) AND missing(COM_SS) AND
missing(UB_SS) AND (COG_INDICATOR LT 1 OR COG_INDICATOR GT 4) AND
(UB_INDICATOR LT 1 OR UB_INDICATOR GT 4) AND missing(P_INDICATOR) AND
(T_INDICATOR LT 1 OR T INDICATOR GT 4) AND (ANX_INDICATOR LT 1 OR

ANX INDICATOR GT 4) AND (DEP_INDICATOR LT 1 OR DEP INDICATOR GT 4)) then
ES 1 = .;

Else IF (SS_1 = 1 OR (H_INDICATOR = 3 OR H INDICATOR = 4) OR (MOB_INDICATOR =
3 OR MOB INDICATOR = 4) OR (COG INDICATOR = 3 OR COG INDICATOR = 4) OR
(UB_INDICATOR = 3 OR UB_INDICATOR = 4) OR P_INDICATOR = 4 OR T INDICATOR = 4
OR ANX INDICATOR = 4 OR DEP_INDICATOR = 4) then ES 1 = 1;

Else ES 1 = 2;

*ES_2: SS 1 + Hearing-indicator, Mobility-indicator, Cognition-indicator +
Upper Body-indicator + AD (4)
AD=only level 4 in Anxiety indictor and Depression indicator;

IF (missing(SS_1) AND (H INDICATOR LT 1 OR H INDICATOR GT 4) AND
(MOB_INDICATOR LT 1 OR MOB INDICATOR GT 4) AND missing(COM SS) AND
missing (UB_SS) AND (COG_INDICATOR LT 1 OR COG_INDICATOR GT 4) AND
(UB_INDICATOR LT 1 OR UB INDICATOR GT 4) AND (ANX INDICATOR LT 1 OR

ANX TINDICATOR GT 4) AND (DEP_INDICATOR LT 1 OR DEP_INDICATOR GT 4)) then
ES 2 = .;

Else IF (SS 1 = 1 OR (H INDICATOR = 3 OR H INDICATOR = 4) OR (MOB INDICATOR =
3 OR MOB INDICATOR = 4) OR (COG INDICATOR = 3 OR COG INDICATOR = 4) OR
(UB_INDICATOR 3 OR UB INDICATOR = 4) OR ANX INDICATOR = 4 OR

DEP INDICATOR = 4) then ES 2 = 1;

Else ES 2 = 2;

*ES 3: SS 1 + Upper Body-indicator + AD (4)
AD=only level 4 in Anxiety indictor and Depression indicator;

IF (missing(vision) AND missing(hearing) AND missing(mobility) AND
missing (communication) AND missing(Self care) AND missing(Cognition) AND
missing (ANX INDICATOR) AND missing (DEP INDICATOR)) then ES 3 = .;

Else IF ((vision = 3 OR vision = 4) OR (hearing= 3 OR hearing = 4) OR
mobility= 3 OR mobility = 4) OR (communication= 3 OR communication = 4) OR
(Self care = 3 OR Self care = 4) OR (Cognition = 3 OR Cognition = 4) OR
ANX_INDICATOR = 4 OR DEP_INDICATOR = 4) then ES_3 =1;

Else ES 3 = 2;

Label
Vision="Degree of difficulty seeing"
communication="Degree of difficulty communicating using usual language"
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hearing="Degree of difficulty hearing"

HEAR 3 R="Difficulty hearing conversation with one person in quiet

room"

HEAR 3 X="Difficulty hearing conversation with one person in quiet

room:Recoded from HEAR 3 R"

HEAR 4 R="Diff hearing one person in noisier room even w/ hearing aid"

HEAR 4 X="Diff hearing one person in noisier room even w/ hearing

aid:Recoded from HEAR 4 R"

H INDICATOR="Hearing indictor"

CEgnition="Degree of difficulty remembering or concentrating"

COG_1 R="Difficulty remembering, concentrating, or both?"

COG_1A="Include respondents who did not asked COG_ 1"

COG_2 R="How often have difficulty remembering?"

COG_3 R="Amount of things you have difficulty remembering?"

R _INDICATOR="Remembering indicator"

COG_INDICATOR="COG INDICATOR"

Self care="Degree of difficulty with self-care"

UB 1 R="Diff raising 2 liter bottle of water from waist to eye level"

UB 2 R="Degree of difficulty using hands and fingers"

UB_INDICATOR="UB INDICATOR"

MOB 4 R="Diff walking 100 yards on level ground w/o aid or equipment"

MOB 5 R="Diff walking 1/3rd mile on level ground w/o aid or equipment"

WALK INDICATOR="WALK INDICATOR"

MOB INDICATOR="MOB INDICATOR"

PAIﬁ_2_R="Frequency of pain in past 3 months"

PAIN 4Y="How much pain you had last time you had pain?"

P INDICATOR="Pain INDICATOR"

TIRED 1 R="How often felt very tired or exhausted in past 3 months"

TIRED 2 R="How long most recent tired or exhausted feelings lasted?"

TIRED 3Y="Level of tiredness last time felt very tired or exhausted"

T INDICATOR="Tired INDICATOR"

SS 1="WG Short Set Disability Identifier"

ESilz"WG—ES Disability Indicator based on 11 domains and 25 questions"

ES 2="WG-ES Disability Indicator based on 9 domains and 20 questions"

ES 3="WG-SS Enhanced Disability Indicator based on 9 domains and 12
questions"

’

Format Vision communication hearing HEAR 3 R HEAR 4 R HEAR 3 X HEAR 4 X

Cognition Self care UB_ 1 R UB 2 R Mobility MOB 4 R MOB 5 R Diff.
COG_ 1 R COGF. COG 1A COGIAF. COG 2 R Cog2f. COG 3 R Cog3f. PAIN 2 R TIRED 1 R
pain2Tirelf. TIRED 2 R Tire2f. PAIN 4Y TIRED 3Y paind4Tire3f.

ANX 1 R DEP 1 R AnxDep. ANX 3Y DEP 3Y AnxDep3F. SS 1 ES 1 ES 2 ES 3 DisabF.;
Run;

Proc format library=ES.ES;
Value Diff
1="No Difficulty"
2="Some Difficulty"
3="A lot of Difficulty"
4="Cannot do at all"
.="Missing"

Value COGF
1="Difficulty remembering only"
2="Difficulty concentrating only"
3="Difficulty with both remembering and concentrating"
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Value COGIlAF
0="(0)No difficulty"
1="Difficulty remembering only"
2="Difficulty concentrating only"
3="Difficulty with both remembering and concentrating"

Value Cog2f
1="Sometimes"
2="0ften"
3="All of the time"

Value Cog3f
1="A few things"
2="A lot of things"
3="Almost everything"

Value AnxDep

1="Daily"

2="Weekly"
3="Monthly"

4="Afew times a year"
5="Never"

Value AnxDep3F
0="Not asked"
1="A little"
2="In bewteen"
3="A lot"

Value pain2Tirelf
1="Never"
2="Some days"
3="Most days"
4="Every day"

Value Tire2f
0="NOT ASKED"
1="Some days"
2="Most days"
3="Every day"

Value paindTire3f
="NOT ASKED"
1="A little"
2="in between"
3="A lot"

Value DisabF
1="With Disability"
2="Without Disability"

Run;
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PHAN VIET THEM: Tai sao lai loai trir Pau va Mét Mé6i?

Déng cht y 1a viéc loai trir cac 13nh vuc vé dau va mét moi khoi mot sé Nhan Dang Khuyét Tat & trén.
Trong ndi bo WG da thao luan nhiéu vé cac lanh vuc nay. Néi dung ra, day khong phai la nhitng 13nh
vuc thuc hién chac niang — va cac phan tich cua ching toi cho thay rang ca hai lanh vuc nay déu cé
mdi twong quan cao véi cac 13nh vuc khac — va rang néu dua céc 1anh vuc nay vao thi ty & khuyét tat
c6 thé rat cao. Cudi cung, xét vé kha ning so sanh quéc té, nhitng 1anh vuc nay nay it phd bién hon;
nghia 13, ching dé bi tac dong boi nhitng anh huéng cua dia phuong, vin héa xi hoi hon cac lanh vuc
thuc hién chirc nang khac.

Vi nhiing 1y do nay, chung t6i da quyét dinh loai trir nhitng lanh vuc nay khoi mot s6 phan tich, méc d
nhirng lanh vuc nay cd theé duoc dua vao nhirng phan tich b6 sung do cac to chirc NSO thuc hi¢n theo
tirng quoc gia.
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	WG-SS: Bộ Câu Hỏi Ngắn Gọn: 6 lãnh vực, 6 câu hỏi.
	WG-ES 2: Bộ Câu Hỏi Mở Rộng (WG-ES TRỪ Đau và Mệt Mỏi): 9 lãnh vực, 20 câu hỏi.
	WG-ES 3: Bộ Câu Hỏi Ngắn Gọn – Nâng Cao (WG-SS THÊM Phần Trên của Cơ Thể, Lo Âu và Trầm Cảm): 9 lãnh vực, 12 câu hỏi.
	LƯU Ý: Để phân tích dữ liệu, hãy sử dụng các kỹ thuật tính trọng số và ước lượng theo tiêu chuẩn của bạn.
	WG-SS được sử dụng làm một phần của Khảo Sát Phỏng Vấn Sức Khỏe Quốc Gia Hoa Kỳ (NHIS). Dữ liệu được sử dụng để chuẩn bị các hướng dẫn này được lấy từ NHIS năm 2013.
	Toàn bộ 25 câu hỏi đều được đưa vào WG-ES 1.
	Mẫu trả lời:
	WG-SS được lồng ghép trong WG-ES. WG-ES được bổ sung bằng cách:


	SAS WG Extended Set Syntax Annotated with Output Tables
	Actual SAS syntax is indented and are in Bold text.
	Communication: Degree of difficulty communicating using usual language
	Hearing: Degree of difficulty hearing
	HEAR_3_X : Difficulty hearing conversation with one person in quiet room
	HEAR_3_X : Difficulty hearing conversation with one person in quiet room
	H_INDICATOR
	Cognition: Degree of difficulty remembering or concentrating
	COG_1_R: Difficulty remembering, concentrating, or both?
	COG_1A: Difficulty remembering, concentrating, or both? (including no difficulty)
	COG_2_R: How often have difficulty remembering?
	COG_3_R: Amount of things you have difficulty remembering?
	R_INDICATOR
	COG_INDICATOR = 4;

	COG_INDICATOR
	SELF_CARE: Degree of difficulty with self-care
	UB_1_R: Diff raising 2 liter bottle of water from waist to eye level
	Else If UB_INDICATOR NE 4 AND UB_INDICATOR NE 3 AND UB_INDICATOR NE 2

	UB_INDICATOR
	Mobility: Degree of difficulty walking or climbing steps
	Tables MOB_4_R*MOB_5_R /NOROW NOCOL NOPERCENT;

	MOB_4_R: Diff walking 100 yards on level ground w/o aid or
	WALK_INDICATOR
	MOB_6_R: Difficulty climbing up or down 12 steps
	According to the table above, the syntax below reclassifies:

	MOB_IDICATOR
	ANX_1_R: How often feel worried, nervous, or anxious?
	ANX_3Y: Level of feelings last time felt worried/nervous/anxious
	ANX_1_R: How often feel worried, nervous or anxious?
	ANX_INDICATOR
	DEP_1_R: How often do you feel depressed?
	DEP_1_R: How often do you feel depressed?
	DEP_INDICATOR
	PAIN_2_R: Frequency of pain in past 3 months
	PAIN_4Y: How much pain you had last time you had pain?
	PAIN_2_R: Frequency of pain in past 3 months
	P_INDICATOR
	TIRED_1_R:How often felt very tired or exhausted in past 3 months
	TIRED_2_R: How long most recent tired or exhausted feelings lasted?
	TIRED_3Y: Level of tiredness
	T_Indicator
	* PFAD (4): Pain, Fatigue, Anxiety and Depression Indicators at level 4

	SS_1: WG Short Set Disability Identifier
	The syntax below calculates an Extended Set Disability Indicator (ES_1) based on 25 questions at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF DIFFICULTY or CANNOT DO AT ALL for the six short set ques...
	Else If (SS_1 = 1 OR (H_INDICATOR = 3 OR H_INDICATOR = 4) OR (MOB_INDICATOR

	ES_1: WG-ES Disability Indicator based on 11 domains and 25 questions
	The syntax below calculates an Extended Set Disability Indicator (ES_2) based on 20 questions at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF DIFFICULTY or CANNOT DO AT ALL for the six short set ques...
	Else If (SS_1 = 1 OR (H_INDICATOR = 3 OR H_INDICATOR = 4) OR (MOB_INDICATOR

	ES_2: WG-ES Disability Indicator based on 9 domains and 20 questions
	The syntax below calculates the WG Short Set ENHANCED Disability Indicator (ES_3) based on the 12 questions at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF DIFFICULTY or CANNOT DO AT ALL for the six ...

	ES_3: WG-SS Enhanced Disability Indicator based on 9 domains and 12 questions
	Đáng chú ý là việc loại trừ các lãnh vực về đau và mệt mỏi từ một số Nhận Dạng Khuyết Tật bên trên. Trong nội bộ WG đã thảo luận nghiêm túc về các lãnh vực này. Nói đúng ra, đây không phải là những lãnh vực thực hiện chức năng – và các phân tích của c...

	PHẦN VIẾT THÊM: Tại sao lại loại trừ Đau và Mệt Mỏi?


